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1. Pick the edd onc out :
(1) Owner's cquity (2) Drawings
(3) Net worth (4) Netassets
Wﬂ?‘ g?} :
(1) = # sfEd (2) 3BT
(3) fFyas 5= (4) Fras Hufw

2. Accrual conceptis basedon .........ene .
(1) Going concern concept (2) Cost principle
(3) Matching principle (4) Dual aspect principle
WNEqaT SFTITOM e g7 IiRd B
(1) M7 Fa FA= (2) @rra Resid
(3) v feriar (4) e TEq R

3. International Financial Reporting Standards (IFRS) are issued by :
(1) TFRS Committee
(2) International Accounting Standards Board
(3) International Accounting Committee
(4) None of the above
staaiedg fasia frdfén wes (IFRS) R a&ra sl fea s & 2
(1) SMEUHHUE FHE
(2) sfadefy d@r qHE 4
(3) sfadsiig da aiaia
(4) 3udes ¥ § ag qe

4. Which source document is issued by a trader when he receives cash from the
customer ?
(1) Receipt (2) Cash memo (3) Cheque (4) Pay-in-slip
g@ﬁmwmwmﬁwwmrﬁmﬁa-wﬁmmﬁamﬂﬁmnm
e
(1) = (2) a1 HAl (3) 9 (4) A-g9-Re
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5. Which of the following is/are objectives of GST ?
(1) To maximize tax rate slabs
(2) To restrict the movement of goods across the country
(3) To eliminate classification dispute between goods and services
(4) All of the above
Fr=fafag § @ H-aud sliead @1 32eg 28 7
(1) 39 & WI & AHaT HA & [
(2) 2T WX H JA1T I YA B Ffsid BT
(3) eGSR X areti B fiw awifeper faame w TH BT

(4) ITAH gl

6. Ledger is called as book of final entry.

(1) True (2) False
(3) Can't say (4) Partially true
JoX @ offe ufafe @ g Her S & |

(1) 94 (2) EH

(3) 7 FE qAHA (4) aTifars w9 |/ T

7. What does credit balance of bank account in cash book signify ?

(1) Overdraft
(2) Cash deposited in bank
(3) Cash withdrawn from bank

(4) None of the above
JAke F& & Tb @A BT STHT AT T ZqTAT B 7

(1) ARG

(2) ¥ H AT THE
(3) &% & AHg fAehr
(4) ST F q Hg e
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A 3

B:, uonaties issued by the Institute of Chartered Accountants of India (ICAI) defines
depreciation.
(1) Accounting Standard-5 (2) Accounting Standard-4
(3) Accounting Standard-6 (4) Accounting Standard-7

........... RO TeE THeded M (STSHIESTE) & S far
HeIEE I giReiT hRar @ |

(1) S@r J9%-5 (2) W@ AH®H-4
(3) & A -6 (4) JET AFH-7
9. A debit note is prepared by ................. :
(1) Purchaser (2) Seller
(3) Cashier (4) None of the above
Th SRE AT .oeenes BRI AR R ST B
(1) sar (2) Fskar
(3) HRER (4) SIA<H H q =g 7L
10. A bill of exchange is drawn by ............. :
(1) Shareholder (2) Debtor
(3) Creditor (4) Bank
fafea ot .o R O fRar ST ®
(1) RERSD (2) &R
(3) ER (4) <=
11. Trial balance shows arithmetical accuracy of ledger accounts, but itisnota ............
proof of accuracy. '
(1) Conclusive (2) Exclusive
(3) Submissive | (4) Inclusive
S IE QR @Rl BRI FEhar HI AT 8, AfhT a8 gdtendar @i
.......... SHTOT & B |
(1) ™orgs (2) fefarse
(3) T = (4) gHIaLm
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12. Balance of bad debts is shown :

13.

14.

(1) in debit column of trial balance

(2) in credit column of tria] balance

(3) as an adjustment at end

(4) by adjusting it with debtors

A RN BT AT T S D
(1) = g P Wye Hiery

() T AT B Do e A

) T 7 TEeT $ =y

(4) 39 IR B A GHEART T

Credit purchases from Rajiv ¥ 9,000 was posted to the debit of Gaurav as ¥ 10,000. In
this case, suspense account will be debited with :

(1) T9,000 (2) ¥10,000
(3) ¥ 19,000 (4) None of the above

wﬁa@r%%—ezﬁram,ooo%%%ﬁzﬁ%1o,ooo%wi‘r@%rﬁ‘am
T AT A H, qelE an & e e s

(1) 9,000 (2) 10,000

(3) ¥ 19,000 (4) SIAH # F HE

Capital expenditure ............. the earning capacity or . ... . the operating
expenses of a business.

(1) Reduces, increases . (2) Increases, reduces

(3) Maintain, reduces (4) Reduces, maintain

IR &g o\ ewar @y ... T U6 R 3 oRmem =g @
........... 2l

(1) e &, sgr & (2) SereT R, werar &

(3) 9T XEaT B, Herr @ (4) 9T B, T ey
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A 5
15.  Consider the following statements and select correct answer by using Codes given
below :
(i) Balance sheet contains only the balances of personél‘ and real accounts.
(ii) Assets side of balance sheet is always equal to capital side.

(iii) Drawings are not shown in the balance sheet as it is a personal expense of the

owner.
Codes :

(1) Only (i) is correct (2) Only (ii) and (iii) is correct
(3) All are correct (4) All are incorrect

@W@mmwﬁwﬁa&rﬁ%mn@@?wmaﬂ% et 3T
(i) ¥ e ¥ Baw srEE % ariE @@ @ Y R S 2

(i) St sfie #1 e s s Bew q=s & ggew a9 T
ggéﬁasﬁtﬁaﬂwﬁﬁ@mmﬁﬁww%%agwﬁwm

g
Fe
(1) Fas (i) a5 8 (2) Saa (ii) X (i) T 8
(3) @+ wer & 4) aft T &

16. Insurance claim received for the damage of machinery due to fire is considered

aS amiiten . Kdn :
(1) Revenue Receipt

(2) Casual Receipt

(3) Deferred Revenue Receipt

(4) None of these

ST & HROT G A BT THAW @& Qo< AT & B .. AT
ST B

ORISR

(2) STHTAS TS

(3) ereafia TeTe i

(4) T8 | Mg T

P.T.O.
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. ) . . at the time
17. Entries which need to be accounted for in the books of accounts of

preparing final accounts are called ............. :

(1) Opening entries (2) Closing entries

(3) Adjustment entries (4) Final account entry

SiftT ST §ARX FY WG B Rt G aar geast o Qe B S
HETEH 8, IT .ennnn... el SIaT B

(1) SR wfafeesr (2) Tmra st

(3) FHEIST Hfaftes ' (4) eifera @rar gfafee

18. Value of physical inventory on 15-04-2020 was % 30,000. Sales amounting to
¥ 1,00,000 and purchases worth 50,000 were held between 31-03-2020 to 1'5-4-2020.
Goods are sold at 20% profit on sales. Values of Inventory as on 31-03-2020 is :

15-04-2020 =1 qferes avg-gN @1 7o T 30,000 &7 31-03-2020 | 15-4-2020
& &= % 1,00,000 B feA IR % 50,000 @ @EE @ TS| A HfEEl X
20% S 9T = ST R 131-03-2020 &6 avg-gE BT A ©

(1) % 3,50,000 (2) % 2,70,000

(3) ¥3,00,000 (4) ¥3,30,000

19.  Opening Inventory 1,000 units at ¥ 4 per unit; Purchases 1,200 units at ¥ 5 per unit;
Sales at the end 2,000 units at ¥ 8 per unit, find out the profit under weighted average

price method :
ST 3=edr 1,000 gfved % 4 ofd gfe 1 ax &; 35 9fy gfe & a7 Q
1,200 gfe @dedr & 2,000 shEdl & ofd § % 8wy give @ ax & e,
AT 3T H &I &b ded AT &l gal e

(1) 6,000 (2) 6,909
(3) % 6,900 | (4) 7,000
20. Partnership deed is also called ............ :
(1) Prospectus (2) Articles of Association
(3) Principles of Partnership (4) Articles of Partnership
RIS RE L fCTCHC SRR 9 FHET ST B |
(1) dredeed (2) Afpa 3% TqITYue
(3) drEEr & i (4) 9=ER & Sfaffam
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21. Hina is a partner in a firm. She withdrew % 6,000 in the beginning of each quarter
during the year ended 3 1st March, 2021. Interest on her drawings @ 10% p.a. will be :

o o W & WeRR ¥ S 31 A, 2021 =t T q & AR o R @ o #
X 6,000 Fr &R M SHD BT W =S @ 10% SRy qf & -

(1) 7900 (2) % 1,200
(3) ¥ 1,500 ‘ (4) T 600

22. A, B, C & D are equal partners in a firm. They changed the profit-sharing ratio as
2:2:1: 1. Calculate sacrifice or gain ratio.

@%ﬁﬁA,B,C@TDW%H@m%‘lﬁﬁw—wwﬁz:z:1:1%
w9 Ram @ A @ ergae @ e

(1) 1/24 (2) 1/12
(3) 1/10 4) 1/6

23. Weighted average method of calculating goodwill is used when :

(1) Profits are not equal (2) Profits show a trend

(3) Profits are fluctuating (4) None of the above

I &l o # ARG ofraa fafyr @ wEnr frar s B, o
(1) @ ga= =8t & (2) 9 W g e §

(3) @ # IaR-IeE & ET 8 (4) ITA® F q HI5 Tl

24. A, B are partners in the ratio of 3 : 2, they admitted C for 1/4 share in the profits which

he acquires equally from A and B. Calculate the new ratio :

A,B3:2 % Iguid § dERER g, I8 C & av & 1/4 & & fw o=
fopar o & A 3IR B & @99 ©9 § U1 Il 8 | T STU b ToT Y

(1) 9:6:5 (2) 3:3:2
(3)3:2:4 (4) 19:11:10

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A) P.T. O.
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8 A

25. When the new partner does not bring his share of goodwill in cash, the amount is

debited to :

(1) Cash A/c (2) Premium A/c

(3) Current A/c of the new partner (4) Capital A/cs of the old partners

ST AT WEER @ $ oy B @y e § A8 anr B, ar < @ SR
(1) 7 @rar & (2) S @rer o

(3) T WEER & =g @ § 4) guo wETERt & St @ A

26. A, B and C are partners in the ratio of 3 : 4 : 2. B wants to retire from the firm. The
profit on revaluation on that date was % 36,000. New ratio of A and C is 5 : 3. Profit on
revaluation will be distributed as -

A,B SR C3:4:2F ogud # aBer &1 B wf § Qarfrga -1 =medm 2|
S9 fqfer B greeaisd 9T e % 36,000 &11 A SR C @1 A1 SO 5 : 3 ¥
TR X A9 59 SR R fear SO

(1) A% 16,000; B ¥ 12,000; CZ 8,000 (2) AT 12,000; B % 16,000; C T 8,000
(3) AT 22,500; C % 13,500 (4) A%22,625;C 3T 12,375

27. On the death of a partner, the amount due to him will be credited to :
(1) All Partners' Capital Accounts (2) Remaining Partners' Capital Accounts
(3) His Executor's Account (4) Governments' Revenue Account
Teh diEaR Bl g UX, IH aF AR S@7 @5 S
(1) &t 9eRrt & Ot @ # (2) A WEER B TR @y F

(3) I9sh oaEes & @rar | (4) THRT & oG Gy §

28. At the time of dissolution of partnership firm, fictitious assets are transferred to -
(1) Capital Accounts of Partners (2) Realisation Account
(3) Cash Account (4) Partners' Loan Accounts
e W F fweT & g, SR HIRT A e R Ry sy
(1) 9=2ER & ISt @rdr & 2) T @y
(3) epx @rar H - ) FERR B oy gy

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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29. An unrecorded asset was valued at ¥ 1,00,000. On firm's dissolution, it was sold for
52%. Realisation account will be credited with :

(1) ¥52,000 (2) T 48,000
(3) ¥ 1,00,000 (4) None of the above

wep SfeiRad |9y @ J79 % 1,00,000 @) ®H $ fged 9 39 52% H S=n
T | I @t | STET fhRar St ‘

(1) 52,0003 €1 (2) 48,000 & €T
(3) T 1,00,000 & TS @) SRE §F T B A&
30. If General Donation of huge amount is received by a school, that donation is treated
as :
(1) Revenue Receipt (Income) (2) Capital Receipt (Liability)
(3) Assets (4) Earned Income
gfx el Remaa & g a9 § o€ AR ar ek ¥, 1 I9 & 1 A
ST ®
(1) ToTea i (e7r9) (2) Gt s (=1f)
(3) &ulT (4) ST T

31. Which of the following represent capital receipt ?
(1) Subscription from Members (2) Donation
(3) Entrance Fees (4) All of the above
Prefafad & @ @I o Wi o1 s #ar ¥ 7
(1) g | SHAEH (2) &4
(3) A Yh (4) SUaH &

32. Liability of a shareholder is limited to ..........
(2) Called up Value

of the shares allotted to him.

(1) Paid up Value

(3) Face Value (4) Reserve Price

QEEGT'QTWEHETWG@GW%T‘TG?Q??% .......... qe difEd BT B |
(1) gebar T (2) =T e
(3) <ifRd T (4) STRiEr g
P.T.O.
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10 A W
of dividend is decided, but the rate

33. The shares on which there is no any pre-fixed rate
profits, such shares

of dividend is fluctuating every year according to the availability of

are called :
(1) Equity share (2) Non-cumulative preference share |
(3) Non-convertible preference share ~ (4) Non-guaranteed preference share

) . ' : %’a-ﬁq‘@’a%,aﬁﬁ
et o amier @ B gd-FeiRa ax TE@ el o B R, TR

AT A/ X F AT N IUAT B SAFAR B @il A
QI H HET ST 8 -

(1) sfd e 2) Fre—w=R adEEr A |

(3) TR—aRaca adzar S (4) TR—Rpd adEar AT |
34. Maximum limit of Premium on share is :

(1) 5% (2) 10%

(3) No limit (4) 100%

JIT qX St 1 st A Y

(1) 5% (2) 10%

(3) PE G T (4) 100%
35. Which of the following items is nof a part of subscribed capital ?

(1) Equity Shares (2) Preference Shares

(3) Forfeited Shares (4) Bonus Shares 1

Frefefad & & HH-81 ag R ISl &1 9FT 787 7

(1) sfel = (2) =dFar %

(3) ST=T PR (4) S =R

36. A Ltd. Purchased the assets from B Ltd. for ¥ 5,40,000. A 1.td issued 10%
of ¥ 100 each at 20% premium against the payment, T | X
received by B Ltd. will be :

A fafee ¥ B fiftes & |uRml 2 540,000 3

debentures
he number of debentures

T & @ F 20% AT R 3100 gy ;3?0‘3 T | A farfiRs 4

b & e o % FoME Srh o) B
(1) 4,500 (2) 5,400 - (3) 45,000

(4) 6,000
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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37. [Interest on debentures issued as a collateral security is paid on :
(1) Nominal value of debentures
(2) No interest is paid
(3) Face value of debentures

(4) Paid up value of debentures
Harfilas gfogfy & w0 # S0 e g REER () W ST & g
fpar ST ®

(1) fesle) =1 9/mmme g
(2) ®E AT TE Rar Sfrem ¥
(3) s =1 SiferT =
(4) TSR @1 Ys-o9 g

38. As per SEBI guidelines an amount equal to ............ of the debenture issue must be

transferred to Debenture Redemption Reserve before redemption begins.

qel b fReneet & AgER, B&deR 399 & ... & e WAERT & A=
IS BN 9 s fedex e fod & w=iafia fear sm anfew

(1) 25% (2) 80%

(3) 50% (4) 100%

39. Which of the following is not required to be prepared under the Companies Act ?
(1) Statement of Profit and Loss

(2) Balance Sheet
(3) Report of Director's and Auditor's

(4) Funds Flow Statement

Hol ifafr & ded Freiad § | SHF-A1 GAR FRA B STasdskar T&f
g7

(1) St 3T B &1 e

(2) sig e

(3) fRereh ok T etk i A

(4) ®s Tl WHe

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A) P T: 0.
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40. 'Accumulated Dividend Arrears' on preference shares is shown in the Company's
Balance Sheet as :

(1) Current Liability (2) Contingent Liability
(3) Comxﬁitments (4) Short-term Provision
T QA o e ey s we @ dd@ Me F g9 SR R
™R
(1) gfam™ By (2) STEHREAE ST
(3) Sfcrersams (4) STeUehHITETR HTeer
41. For whom the Analysis of Financial Statements is not significant ?
(1) Investor (2) Government
(3) Ambassador of India ' (4) Company's Employee
Roerh R R et o1 fsaor et 787 2 7
(1) Fasmes (2) TR
(3) ¥IRA & TSIEA ' (4) HUH H FHHATY

42. The most commonly used tools for Financial Analysis are :

(1) Comparative Statements (2) Common Size Statement

(3) Accounting Ratios (4) All of the above
faxia fasaisor & fRiQ @@ sifs S9aT fhe 9 arer Susr D -
(1) oS feazon (2) 9H™T STERIR T fyg=oy

(3) TR ST (4) SURH gf

43. Revenue from Operations less cost of Revenue from Operations is called :

(1) Net profit (2) Operating profit

(3) Gross profit (4) Total profit

G | 9 o Ht{lmd@rﬂwaﬁwﬁwﬁrm%:
(1) gr= & (2) IR=e= @y

(3) HehaT <TH 4) BT AT
'G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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44. Main objective of Trend Analysis is :
(1) To make comparative study of the financial statements for a number of years
(2) To indicate the direction of movement

(3) To help in forecasts of various items

(4) All of the above

TgRT e 1 g SRy B
(1)W£aﬁ?%ﬁﬁaﬁmwwaww
(2) ST F Rem B ZR e @ g

(3) faf¥r=1 =& & yafgam & #ex &

(4) SYUH |

45. Two basic measures of liquidity are :

(1) Inventory turnover and Current ratio

(2) Current ratio and Quick ratio

(3) Gross Profit ratio and Operating ratio

(4) Current ratio and Average Collection period

e (Rifafed) & & g sum ¥

(1) e edefay ok axHM STga

(2) I FFAE SR @R ST

(3) TehaT AT SFIA AT TLACT S

(4) aa= STgAT i afraa due ofafy

A company's liquid assets are ¥ 10,00,000 and its current liabilities are X 8,00,000.
Subsequently, it purchased goods for ¥ 1,00,000 on credit. Quick ratio will be :

wh Faft @l T daf T 10,00,000 ¥ X FERI = 3Tl % 8,00,000 F |
sﬂ%w,WﬁGWW?l,oo,oooﬁW@ﬁmlaﬁﬁaﬁmﬁ@m:

2) 122:1
4) 125:1

46.

(1) 1.11:1

(3) 1.38:1

.T.O.
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A) P
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47. Proprietary Ratio is :

| (1) Long term Debts/Shareholder's Funds
(2) Total Assets/Shareholder's Funds
(3) Shareholder's Funds/Total Assets
(4) Shareholder's Funds/Fixed Assets
A U @
(1) st owafer & oy R
(2) FHI dURYAIERE H A
(3) ERURE & fHfeyge i
(4) TR H M/ dufRkn

e *
48. A Firm's credit revenue from operations is ¥ 3,60,000 cash revenue from operations is
) % 70,000. Cost of revenue from operations is ¥ 3,61,200. Its gross profit ratio will be :

O A T BH H ise o T 3,60,000 8 HEWH € Hehs Tered X 70,000
g | TEe @ o @ AT 3,61,200 B 1 SHHI TR A1H HAGURT BN

(1) 11% ) 15%
(3) 18% 4) 16%

49. While calculating operating profit which will be added to net profit :
(1) Preliminary Expenses Written off
(2) Depreciation
(3) Loss on Sale of Asset
(4) All of the above
UiREe @ @ TOET Hd G9 R g @ § ey st ?
(1) wifdres &g 92 @ d S
(2) Terer
(3) Hufkr @t fespl WX Jeha
(4) SRH G

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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50. Where will you show purchase of Goodwill in a Cash Flow Statement ?
(1) Cash Flow from Operating Activities
(2) Cash Flow from Investing Activities
(3) Cash Flow from Financing Activities
(4) Cash Equivalent
B TN Ree F o ey suwf FEt REnh ?
(1) ai=mes iRifafet @ o vyae
(2) MRy TfofRfE @ w5 v
(3) faim afafafst § G wae
(4) STHT FHpET

51. While browsing through the website of RBI, Hari came across the specimen of a
financial instrument that was developed in medieval India for use in trade and credit
transaction. It was deemed to be an unconditional order in writing made by a person
directing another to pay a certain sum of money to a person named in the order.
Identify the financial instrument being described in the above lines.

(1) Draft (2) Hundi (3) Cheque (4) Chitti

AR # JTdse & HEd 9 SR @xd @9, 8R @ e faxia e
&l Rrerr, B Fo@ie 9RdG § AR oIR Hige dFed § IuArT & i
Rrepfare fpar Tar or | 39 R ARh g TRy § Aiha =Rk o I fyea
r@rmwmﬁwﬁ%méﬁw%@aﬁ%msﬁaﬂ%ﬂwmml
Sqies GRRar § aftfa faxia aree @ geer B |

(1) grFe 2) g (3) =% (4) fa=n
52. These are forces in the firm's immediate environment that affect the performance of the

firm :

(1) Macro environment (2) Micro environment

(3) Technological environment (4) Natural environment

avﬁﬁ%aﬁmaamwﬁaa%ﬁrtﬁ%msﬁﬁwﬁaaﬂ%%:

(1) T arema<eT (2) L A
(3) TBAIB TR (4) ST AT
P.T.O.
G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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53. Activity which are meant for assisting trade are known as :

(1) Auxiliaries to trade (2) Aids to trade
(3) Services (4) All of the above
SR B TEEA & R 3 o arel TRRREE @ ..o H B H S
ST B 1 |
(1) =R &% QT germs (2) =R & g FErEdl
(3) |arg (4) I a
54. ... is the process of analyzing the environment for the identification of factors
which have impact on or have implication for the business.
(1) Forecasting (2) Assessment (3) Scanning (4) Nota

........... IF HRH B TN P R GEiEIeT FH GLAST HIA Dl ARAT B
S1ep1 saema o)y gsar § ar Mtk Sar 2

(1) gatgam (2) STeheT (3) @ (4) e

55. The responsibility of business to channelize its funds into meaningful activities so as to
ensure good returns on investment is .......... !

(1) Ethical responsibility (2) Discretionary responsibility
(3) Economic responsibility‘ (4) Legal responsibility
fraer ox orest Red giifEd & & e oad ®s & arels wfafafier 3
T B e FgEE @ BEEr L =4
(1) Afe = (2) = e
(3) eTfEfer Rr=Aerd (4) FLAT e
56. ........... is concerned with the withdrawal of state from an industry or sector, partiall)
or fully
(1) Liberalisation (2) Modernisation
(3) Privatisation (4) Globalisation
y F1 HAT B0 AT A G | T B iR A got wy y ard ¢
|
(1) SETIHTOT (2) sryfeRrRToT
ORESIEaN (4) Ieefiepzor

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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57. The autonomous corporations that were formed to protect the interests of the traders
were known as

(1) Trading communities (2) Merchant corporations
(3) Jagat Seths (4) None of the above
AMRAT & RA & wn & R wvd @@ B @ & w9 F S
ST o |
(1) =R e (2) =aie
(3) SFa |e (4) ST<F H A FHg &
58. No capital investment is required in case of ............ .
(1) Profession (2) Business
(3) Employment (4) All of the above
.......... ® " H g Iolt Faer @ emasaeear w9 ¥
(1) qsm (2) TR
(3) TSI (4) I9U<H G
59. Sole proprietors have ............ liability.
(1) Limited (2) Unlimited
(3) Joint and limited (4) Joint and unlimited
bt W B R A B 4
(1) saa (2) ewffra
(3) &g A AifET (4) §gwh &R ol
60. What is the full form of VPN ?
(1) Virtual Printing Network (2) Virtual Private Name
(3) Virtual Private Network (4) None of the above
AT et BT R 7
(1) gt fifén A (2) SgAT TZAT AH
(3) adere wEde Aedd (4) SUARH F | H1g A&

. PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A) PT O,
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61. The minimum and maximum number of partners in a partnership firm are :

(1) 2 and 100 respectively (2) 2 and 20 respectively
(3) 10 and 100 respectively ' (4) 10 and 50 respectively
U R B H AR B e ok s e
(1) sHHT: 2 3T} 100 (2) A 2 3 20
(3) A 10 397 100 (4) HHEST: 10 3R 50

62. The only feasible purpose of financial management is :
(1) Wealth maximisation (2) Sales maximisation
(3) Profit maximisation : (4) Assets maximisation
i sele o1 Paw =rgert ooy D
(1) a9 Srferepaesor (2) Tershl SAfEBHIEh LT
(3) @Y ST HToT (4) GufRy SAfRreRaHIh I

63. Which of the following laws governs partnership form of business organization ?

(1) Indian Partnership Act, 1930 (2) Indian Partnership Act, 1932

(3) Indian Partnership Act, 1940 (4) Indian Partnership Act, 1952

e & @ #H9-91 #gT Aeaias e $ aEer ey @y St

HXAT & 7
(1) ARaIE @EEry AR, 1930 (2) TR 9@ ey, 1932

(3) 9ReIE |rERry i, 1940 (4) =i 9eErs srferee, 1952

How many companies are included in the SENSEX of India ?

64.
AR b H99d H =l Hafar enfaer § 2
(1) 30 (2) 37 (3) 40 (4) 60
65. Registration of co-operative society is ........... .
(1) Optional (2) Advisable (3) Compulsory (4) Preferable
e AAfT 1 dSfiBRor ... 2

(1) Sieas 2) @& a7 (3) afEE (4) i

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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50 X;?\:;i::sp zfiessoetake decisions in a cooperative soc1ety. ?

3) GOVemmem Perative society (2) Elected managing committee

(4) Customers

TP W A Frofy 3 5 o P e B 7

() e ik 3 e @) Frafferr s <

(3) | (&) e
67. Tele-marketing js the part of :

(1) Social marketing (2) Direct marketing

(3) Viral marketing (4) Relationship marketing

CT-HIBRAT frem B

(1) amiSTe fqur 57 (2) ueT fgor @5

(3) PR FBRET 2 (4) RATRIG TR
68. What is the maximum number of members in a private company ?

(1) Unlimited (2) 100 : (3) 200 (4) 500

T o ol § deEt @ eiftesan d@er Reael o ¥ 7

(1) srehfye (2) 100 (3) 200 (4) 500
69. When can a public company commence its business ?

(1) After obtaining the certificate of commencement

(2) After obtaining the licence

(3) After obtaining the certificate of incorporation

(4) All of the above

FE QIS Bl FIAT FTEHT Dl P& HY T € 7

(1) SRST &7 SETO-O ST I & o

(2) TrEEE W B D AR

(3) PR @ FHO-US WE B b A

(4) Suce a4l

P01

’G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)

Scanne d with CamScanner



20

: : iness a
70. A private company can commence its busines

71.

72.

A A
fier obtaining which of the f0110wing?

(1) Licence
(2) Certificate of incorporation
(3) Certificate of commencement

(4) All of the above

o el o P § @ RRd Sa Hed B ST SHEEE 4w A
il B 7

(1) rgEE

(2) MRS T IHTOI-9H

(3) "R hT FHTOT-UH

(4) SI=h A

Management principles are very ............ whereas pure science principles are rigid.
(1) Flexible. (2) Contingent

(3) Dependent (4) Absolute

yeiTd & fasid 9gd e g, T g e fasid #er B

(1) <= (2) sFfig=a

(3) st ’ (4) e

............ is a process of identifying the areas of market that are different from one
another.

(1) Marketing (2) Promotion

(3) Segmentation (4) Targeting

S 2) e

() Breror (4) S

PG-EE-ZOZZ/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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73. Itrefers to the Process of
‘ sa

(1) Disinvestmep;

(2) Globalizatiy

le of equity shares to the private sector and to the public.

(3) Economies of ¢q,

(4) None of the above

A B REH B ufkar B deRT B B

() T B reterarer

74. Hiring of employees is done by which level of management ?
(1) Top level (2) Middle level
(3) Lower level (4) All of the above
HHAMRAT &1 ST Teie & g w< 2/ &) o ® 7
(1) ¥ «X g™ (2) 71 W) ')
(3) e =} a3 (4) ITUE 9N F|

75. Coordination is needed at :
(1) Lower level of management
(2) Middle level of management
(3) Top level of management
(4) All of the above
e @ oTagERdl Bl ©
(1) segg & fFrad | T
(2) weiee & 7F WL TR
(3) weter @ fd & 9T
(4) U6 @A I

Y "P.T.O.
: , X)(A _
PG'El‘:~2022/(1\’l. Com. Hons)(Five r.)-(SET-X)/(A) |
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76. 'Making timetable in an educational institute is an example of

(D Organising (2) Coordination

(3) Controlling | (4) Nota
mmmﬁw-vﬁuﬂm ..... e T ST B
(1) =S (2) a9

(3) T (4) Arer

77. "It is that function of Mmanagement which is considered as the base of all other

functions." Identify the function of management stated in the above lines.
(D) Planning (2) Controlling
(3) Organising (4) Staffing

“%WWwwm%mmaﬁmmaﬂmwm%n”
Gﬁﬁdﬁﬁﬁﬁmmﬁm%Waﬁwaﬁl

(1) At (2) FrE=oT
(3) s (4) F=IftpT
78. ... are the anticipated environments in which plans are expected to operate.

(1) Planning premises

(2) Forecasting

(3) Objectives

(4) None of these

......... wﬁa_ww%mﬁmﬁ%mmﬁm%|
(1) IS 9]

(2) g -

(3) Igm

@) 7 ¥ B 7

PG-EE-2022/(M. Com, Hons)(Five Yr.)-(SET-X)/(A)
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79. ........ s 18 the process of dividing work into manageable activities and then grouping
the activities which are similar in nature.
(1) Coordination (2) Departmentalization
(3) Organisation structure (4) Delegation of authority

......... M F T TAREt § ke @ ok i s9 affafEt @
HEEBT B 3 whar & S wphy F wAE T

(1) &= (2) Feremeheeheer

(3) Eew dx=m (4) wferERRer s wfaiiEE
80. Which of the following gives shape to the organization structure ?

(1) Extent of delegation (2) Employee strength -

(3) Span of management (4) None of the above

fr=fafaa & | @F-ar S7ew 3= @ TR AT 8 °

(1) gfci=ferdsa & g (2) A RH

(3) JEEH Y <ty (4) IIAH | & PIg Tl

81. Which type of organizational structures is the most suitable for those business
enterprises where a large variety of products are manufactured ?

(1) Functional (2) Divisional

(3) Both (1) and (2) (4) Nota

& el & o a9 e F e fa e g 7

(1) i (2) s

3) (1) & (2) & (4) AT

is the obligation of a subordinate to properly perform the assigned duty.
(2) Responsibility

(4) Nota

82. ............
(1) Authority

tability
%lﬁo;r;;laﬁmﬁmﬁ%mqmmﬁwﬁﬁmw ........ T
(1) sferepTeT (2) SEREI
(3) STaTeRE! (4) e
(SET-X)/(A) " P.T.O.
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- < i St i implies being answerable for the final outcome.
(1) Authority ) Responsibility
(3) Accountability | (4) Nota
........... e e LR =l 2
(1) sfeEpzoT (2) SR
(3) STaTERE (4) A
84. An organization is ............. when decision-making authority i retained by higher
management levels.
(1) Centralised 2) Decentralised
(3) Both (1) and (2) (4) Nota
TH TS covenees %mﬁ@aﬁmmﬁmaﬁwﬁmw@
ST B 1 =
(1) BRFA | (2) R |
(3) (1) &% ()& (4) =reT

85. "It refers to the right of an individual to command his subordinate and to take action
within the scope of his position."
Which element of delegation is being referred to the above statement ?
(1) Accountability
(2) Responsibility
(3) Authority
(4) Nota

voE Brdl AfRE B ST TR W ey A i
ot Y B SRR B TR T B MR ooy feafer F T

W%ﬁmaﬁaﬁwﬁ%ﬁmwﬁmmmw%?
(1) STeTaeEl '
(2) frerd
(3) SerERTeT
(4) AT
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A) PG
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86. Which of the following is frue in case of e-banking ?

87.

88.

(1) Lowers the transaction cost

(2) Adds value to the banking relationship

(3) Empowers customers

(4) All of the above

§-dfpT & A § Frefifed § ¥ A e R 7
(1) A9-39 @ AT Y BT BT &

(2) 9T wEG F ge shgar

(3) uTEh! N TIRG T

(4) SUAH st

Directing is initiated at .............. level of management.
(1) Lower (2) Middle

(3) Top (4) All of these
JHITT B oeennnnn. X uX ey g% fear S 2
(1) feet (2) 7

(3) ofe (4) & &

Which of the following is not the element of directing ?
(1) Delegation

(2) Leadership

(3) Motivation

(4) Communication
Prfefad § @ 9 FesF & d<d F81 8 7

(1) sfafferEs

(2) I

(3) Iem

(4) €O

'G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A)
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89. Which of the following principles are applicable to Fire Insurance ?

(2) Mitigation

(1) Proximate cause
(4) All of the above

(3) Contribution

ST & A fmia e g ax arg @t € 7

1
|
{
{
}
!

(1) HI9E HeT (2) g=H

(3) I e (4) ITrh A |
890 .commims is an inner state that energises, activates or move and directs behav1our§

towards goals. ,

(1) Motivation (2) Motives 1

(3) Motivators (4) All of the above
........... @aﬂaﬁmﬁaﬁr%ﬁra@%qﬁfmﬁ%ﬁmﬁﬁ

aﬁmm}
TIART Bl & o) MR &l B |

(1) 9o (2) HRHE |

(3) Ub (4) Iq0h al |
91. Controlling means ensuring that activities in an organization are performed as perg

the ............ : |

(1) Plans (2) Goals

(3) Resources (4) Nota

Frisor 1 ot TE gReEd & 8 RRE wew # wafafer . 3

AR & S E

(1) TS (2) @&y

(3) Gare (4) Srer

92. What should be the 'focus point' for a Manager while controlling, as controlling at each
and every step is not possible ? &

(1) Special area (2) Key result area
(3) Normal area (4) Nota

R =T BT °Ea JE R ? WIS’ BN =R, wifn ax W

R &= @) Fe wRom 2
(3) "™ T &= @) ey
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. An effi . :
93 1 eC ort to control ceverything may end up in controlling nothing is related to :
(1) Critical point contro] (2) Management by excepﬁon
(3) Management by information (4) Nota
SEIREAREIEN meﬁgﬁﬂﬁﬁ%ﬁéﬁ&ﬁﬁmméﬁmm%ﬁmﬁ
SEIECIE-SE
(1) Fewaget fiig fereisror (2) ST9aTE FRT e
() =T & wea (4) et

94. Name the function of management which helps in the formulation of future plans, in

the light of the problems that were identified and thus, helps in better planning in the
future period.

(1) Planning (2) Organising  (3) Directing (4) Controlling

T B IH B HT AW GAqRY SN qeEE TS e B oTed § A @
et & i § meg #Rar € iR 39 weR, Wi @ oty ¥ dsax
QST T H A BT |

(1) A= (2) ST (3) s (4) =T

95. Identify an important principle of management control in which only significant
deviations which go beyond the permissible limit should be brought to the notice of

management.
(1) Management by control (2) Control by exception
(3) Critical point control (4) Both (1) and (2)
S STgHT A1 ¥ WX O &, S "deE $ & § A’ ST ey |
(1) T B gEee (2) eT9arE ERT FRE©T
(3) meayer fog fEm @ (1) 8fr (2) &
96. Which of the following money market instrument is also known as zero coupon
bonds ?
(1) Call money (2) Treasury bill
(3) Commercial paper | (4) Commercial bill
?ﬂ%@aﬁ@aﬁw-wgmwwwsﬁﬁ?@wm%wﬁaﬁww
9

(1) & |- (2) T4 o (3) HEREA U (4) HERES &
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(A) P.T.O.
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99.

100.

A

........... is the short-term finance repayable on demand, with a maturity period of one
day to fifteen days.

(1) Call money (2) Treasury bill
(3) Commercial paper (4) Commercial bill

......... T RE § dze RET 0 qRusmdr @iy & @rer §F1 X e
SIS B ¥ |

(1) i 7=t (2) g ferT

(3) FEREE qUT (4) iz e

Which of the following can be a Depbsitory Participant (DP) ?

(1) Banks (2) Broker

(3) Financial Services Company (4) All of the above
frfafiad & @ @9 wsn Buffted aféfade (DP) & @& 8 7
(1) Fe5 (2) ST

3) fade Far s ~(4) SUORE |l

It has been made compuisory to settle all trades within how many days of the trade date
on a rolling settlement basis ?

(1) One (2) Two (3) Three (4) Four

MR H ag & fhaa @A & ofiax 9 2sf o AT Yeaie B uR )
forgerr sAfad &Y fRar = B 7

.......... is an institution or organization, which holds securities in electronic form, in
which trading is done. '

(1) Stock exchange » (2) SEBI

(3) Depository (4) Nota

oot T GEIT AT WS B, SN uRraREl @y ety : 5
Rrad s R SET B WA T

(1) € TeFaas - 2) I
(3) &I (4) T
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1. Management principles are very
(1) Flexible

(3) Dependent

whereas pure science principles are rigid.
(2) Contingent

(4) Absolute

......... 8, ST g s Risid #er B
(1) e (2) safwfeera
(3) oM (4) Freder
2 i 1s a process of identifying the areas of market that are different from one
another.
(1) Marketing (2) Promotion
(3) Segmentation (4) Targeting
.......... TR F I A B TEAN B B TH SERA T SN Th-gER A
= 2
(1) HATehfe (2) wIe=
(3) == (4) efvenToT
3. It refers to the process of sale of equity shares to the private sector and to the public
(1) Disinvestment (2) Globalization
(3) Economies of scale (4) None of the above
e Mol & S ST @ sl IRl @ Repl @ afthar @y deiRfa @t 2
(1) fafasT (2) aAgdreRToT
(3) I & STt 4) SIE # | B &
4.

Hiring of employees is done by which level of management ?
(1) Top level (2) Middle level

(4) All of the above
HHARAT P A T699 B [FE WX A H Iy 2 7
(1) ¥ X &

(3) FEa @@ ')

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)

(3) Lower level

(2) 95 wWX g
(4) STUH T3 ERT
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5. Coordination is needed at :
(1) Lower level of management
(2) Middle level of management
(3) Top level of management
(4) All of the above
Ty H AGTHAT Bl ©
(1) seigs & e &Y 0
(2) FEET & A WX W

3) g=gT & Y w9

(4) SYUTH | 9T

6. Making timetable in an educational institute is an example o) e ;
(1) Organising (2) Coordination
(3) Controlling (4) Nota
fpdt fareror deee # EHI-AIRON SEET ... P IAEIT 2 |
(1) ST (2) g4
3) Fersor (4) e

7. "It is that function of management which is considered as the base of all othe:

functions." Identify the function of management stated in the above lines.
(1) Planning (2) Controlling
(3) Organising (4) Staffing

“wﬁmm%m%mmﬂﬁmmaﬂmqﬁnw%r
Sqh iRkt # Sag T SEET B Bl B TEEH B

(1) BT (2) FrdsoT
(3) SIS (4) T
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Be, msswvvmusm are the anticipated environments in which plans are expected to operate.
(1) Planning premises
(2) Forecasting
(3) Objectives
(4) None of these
......... mﬁﬁw%ﬁﬂﬁmﬁ%aﬁﬁﬁ%aﬁﬁ?%l
(1) AT 9REY
(2) qIgA
(3) e
(4) T | Hg &
- T— is the process of dividing work into manageable activities and then grouping
the activities which are similar in nature.
(1) Coordination (2) Departmentalization
(3) Organisation structure (4) Delegation of authority
......... waﬁmmnﬁrﬁfﬁﬁﬁ%ﬂﬁﬁm&?ﬁﬂwnﬁﬁﬁﬁaﬁ
TEF B F AT B S WER A w
(1) I3 - (2) FagrigsTeT
(3) G 9=l (4) wiEreRTer 1 i
10.

Which of the following gives shape to the organization structure ?

(1) Extent of delegation (2) Employee strength

(3) Span of management (4) None of the above

e & & HIH-61 Wed @1 H SAHR T ¥ ?

(1) ufafEHEsa @& g (2) AT ARH

(3) uETA & IEfy (4) ST 7 § HE 96

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B) P.T. O.
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11. While browsing through the website of RBI, Hari came across t:hetrsapdeemgxflnc;}fd?
financial instrument that was developed in medieval India for use in Forii edit
transaction. It was deemed to be an unconditional order in WrIting mad & yth Person
directing another to pay a certain sum of money to a person named in the order
Identify the financial instrument being described in the above lines.

(1) Draft (2) Hundi (3) Cheque (4) Chitti

ARENAE 1 JqEEe S Aegw § FORE S GFd, BX B Uh i dey
H A e, By demepri wia & &R ol #ide dWed § ITArT & fy
fepfia fpem mr o) 5@ R =Re g emdw & AT @ B o it
TR BT PN T 1 Py 3 qron Rikgd § &1 9 SR AT ST o
STRh GReAt & affq Rl @rae & gemm #Y)

(1) 3T @ & (3) % ORERL
12. These are forces in the firm's immediate environment that affect the performance of the
firm :
(1) Macro environment (2) Micro environment
(3) Technological environment (4) Natural environment
A B F ToH AqCET F aw E N B B dasi @B oSwRd wR E
(1) T arERer (2) T areTERer
(3) Thent ATeTEReT 4) q@m CINICES]
13. Activity which are meant for assisting trade are known as : _
(1) Auxiliaries.to trade (2) Aids to trade
(3) Services (4) All of the above
MR H FeEFd & e & 5= arht afeffet &y .. ® w9 S
ST B
(1) =R & f&Q #em™s (2) =R & U germEr
(3) Qard (4) IIUH |
e svovavivans is the process of analyzing the environment for the identification of factors

which have impact on or have implication for the business

(1) Forecasting ~ (2) Assessment  (3) Scanning (4) Nota

foTTepT aE™ 9X 99E ggar € ar Mfart St 8
(1) garga (2) ATRT (3) wBfT 4) et
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15.

16.

17.

18.

The responsibility of business to channelize its funds into meaningful activities so as to
ensure good returns on investment is .......... .

(1) Ethical responsibility (2) Discretionary responsibility

(3) Economic responsibility (4) Legal responsibility
ﬁ%&wwwﬁﬁgﬁrﬁaﬁmﬁ%mmﬁaﬁmnﬁﬁﬁﬁﬁ
TN B e FeaE @ Rl L .y

(1) 3 Rrderd 2) FRmEs e

(3) R RreTd (4) Fr RrEr

........... 1S concémed with the withdrawal of state from an industry or sector, partially

(1) Liberalisation (2) Modernisation

(3) Privatisation (4) Globalisation

" & Hey Rel ST @1 & & ew # Sies a1 f w9 auE |/
| i _

(1) IEHT (2) sgfenIheT

(3) stz (4) dsdiBTor

The autonomous corporations that were formed to protect the interests of the traders
were Known 88 ....c.cccoomnen :

(1) Trading communities (2) Merchant corporations

(3) Jagat Seths (4) None of the above

FREr & &t @ wn & fdu afed @ s Ao ® ®9 7 S
STt AT |

(1) =maiis T (2) =S

(3) s ¥ (4) ST 7 q Hig el

No capital investment is required in case of ............ .

(1) Profession (2) Business (3) Employment  (4) All of the above
.......... S wme & B G PR @ emasr w9 ¥

(1) 9=m (2) =R (3) SR (4) ITAH |

P.T. O



19.

20.

21.

22.

PG-EE

Sole proprietors have ............ liability.

(1) Limited (2) Unlimited

(3) Joint and limited (4) Joint and unlimited
THd @A Bl e e ot B

(1) ey (2) STdIfEd

(3) Egh SN e (4) "y Sl AT
What is the full form of VPN ?

(1) Virtual Printing Network (2) Virtual Private Name
(3) Virtual Private Network (4) None of the above
AqeT o f w7 F®r T 7

(1) agera fifén Aeas ) aﬁmn@zﬁﬁ
(3) TgHAT WzAe edw (4) ST 7 & HIE TSl

Which type of organizational structures is the most suitable for those business
enterprises where a large variety of products are manufactured ?

(1) Functional (2) Divisional
(3) Both (1) and (2) | (4) Nota

STt S@El & o wer fRfdear @& FEi e s w2

(1) HETEH (2) g

(3) (1) & (2) A (4) e

............. is the obligation of a subordinate to properly perform the assigned duty.

(1) Authority (2) Responsibility

(3) Accountability (4) Nota

A T Fder B AE @ FA F R 0 el B A qr 2
(1) SfErEhTeT (2) SEE

(3) STATEET (4) Frer

2022/(M. Com. Hons)(Five Yr.-(SET-X)/(B)



implies being answerable for the final outcome.

(1) Authority (2) Responsibility
(3) Accountability

(4) Nota
........... 1 A S aRem 3 R sEeRs B R
(1) sfrepor (2) IRaERE
(3) STETERE (4) _rer

24. An organization is

............. when decision-making authority is retained by higher
management levels.

(1) Centralised
(3) Both (1) and (2)

(2) Decentralised
(4) Nota

Tk e ........ 2 99 Folg a9 & R S=g weYT W ERT S91T @l
SET 2

(1) slipa ) e

(3) (1) 3 (2) A=t (4) Arer

25. "It refers to the right of an individual to command his subordinate and to take action

within the scope of his position."

Which element o_f delegation is being referred to the above statement ?
(1) Accountability

(2) Responsibility

(3) Authority

(4) Nota

“gg fpdl Aafe & 99 N &I SR 237 X otgl Refy & =X §
HRATE HH B ATTRR H & Har g I

gfaffdsa & 9 a@ & SIU Huq # Haisig fopar s w@r & ?
(1) STarEeeE

(2) P

(3) wTferERToT

(4) =er

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B) P.T.O.



26. Which of the following is frue in case of e-banking ?
(1) Lowers the transaction cost
(2) Adds value to the banking relationship
(3) Empowers customers
(4) All of the above
$-3f5T & A | Freffes ¥ @ B g R ?
(1) A9-39 ! T B HH BT B |
(2) dfpT S99 ¥ g Sear @
(3) UTSHT HI D TACT &
(4) IUAh G

27. Directing is initiated at .............. level of management.

(1) Lower . (2) Middle

(3) Top (4) All of these
TEET B eenrennnns X X s & o sar B
(1) (2) 7ex

(3) o 4) 3 &0

28. Which of the following is not the element of directing ?

(1) Delegation (2) Leadership

(3) Motivation (4) Communication
frfafag § @ @9 eee & o T8 g ?
OERIREEES] (2) A«

(3) XM 4) €=

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)



20. Which of the following principles are applicable to Fire Insurance ?
(1) Proximate cause
(2) Mitigation
(3) Contribution
(4) All of the above
Frfefad § @ H9-¥ Rysia of S w @y 8 € 7
(1) I9Ey HRoT
(2) =T |
(3) AFEH
(4) STAH G

< 1) KISTERSE AR is an inner state that energises, activates or move and directs behaviour
towards goals.

(1) Motivation (2) Motives
(3) Motivators (4) All of the above

........ ... Up Iafike Refa 8 o @&t & ufd ayasr o fharsha, afssa an
WHIART el & X MR s 81

(1) Sem (2) THER
(3) F (4) ST T
31. Trial balance shows arithmetical accuracy of ledger accounts, but it is not a ............
proof of accuracy.
(1) Conclusive (2) Exclusive
(3) Submissive (4) Inclusive
T S A9 @il N SR T har @ g9TaT B, AT 98 adiedr &
.......... THTOT & B |
(1) Forass (2) fafare
@) R (4) T

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B) P.T. O.
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32. Balance of bad debts is shown :
(1) in debit column of trial balance
(2) in credit column of trial balance
(3) as an adjustment at end
(4) by adjusting it with debtors
19T Ol BT AT AT A B
(1) Tae S| & S @ 4
(2) TS AT B Hise e H
(3) ofa ¥ g9 &% &9 H
(4) 39 IR & G FEENT Hh

33. Credit purchases from Rajiv ¥ 9,000 was posted to the debit of Gaurav as ¥ 10,000. In
this case, suspense account will be debited with :

(1) 9,000 (2) ¥ 10,000
(3) ¥ 19,000 (4) None of the above

aof & #fee @ls 9,000 kg & e F T 10,000 & 9 F @ F @A
T AT 39 A H, a9 e § Sfee e s

(1) ¥9,000 (2) 10,000
(3) 19,000 (4) ITUH H | 3 &l
34. Capital expenditure ............. the earning capacity or ............ the operating
expenses of a business.
(1) Reduces, increases ~ (2) Increases, reduces
(3) Maintain, reduces - (4) Reduces, maintain
o &9 ofoie BTl @l ........... I Uh ANR P IREeE =g @
........... 2
(1) U< 8, SR & (2) Somar B, geEr
(3) SEIT @A B, HewmT 8 (4) " B, S9T wEar @

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)
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35. Consider the following statements and select correct answer by using Codes given
below : |

(1) Balance sheet contains only the balances of personal and real accounts.

(if) Assets side of balance sheet is always equal to capital side.

(iii) Drawings are not shown in the balance sheet as it is a personal expense of the
owner.

Codes :

(1) Only () is correct (2) Onlly (i) and (i) is vorrect
(3) All are correct

(4) All are incorrect
Zﬁﬁmﬁ"fﬁgﬁmﬁwﬁaﬂaﬁﬁmﬁ%ﬁqm < H IYAFT FH Fel I

() ITE e ¥ Daw aRe@ oK arafs @[l @& A9 AR ey T
(ii) SxfE sfie @1 Tae aEe =7 dew s 3 axE] O S
(i) Iete sfie # omevor =& Rew 1w ¥ g woar £ B g @ @1 SR

T B

%_c.".'

(1) aad (i) g & (2) daa (i) 3 (iii) 91 &
(3) aft 91 & (4) Gft TTIg &

36. Insurance claim received for the damage of machinery due to fire is considered

. (NI ;

(1) Revenue Receipt

(2) Casual Receipt

(3) Deferred Revenue Receipt
(4) None of these

SANT & HIROT AN B gL JHEH & [T AT 91 @ @r ...
SicIES |

(1) TS/ ot

(2) 3R T

(3) TR oTeE i
(4) 579 |q =g el

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B) P.T.0).
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37. Entries which need to be accounted for in the books of accounts at the time of

38.

39.

preparing final accounts are called ............. ;
(1) Opening entries (2) Closing entries
(3) Adjustment entries (4) Final account entry

SR ¥R B T R gRRedt @1 akar gedet o S (6T ST
HETE B, T +evvnnnn. HET ST B

(1) ST wfaftedt (2) waTge Sfaftedt
(3) THANT gRaftest (4) sif @ wfafte
Value of physical inventory on 15-04-2020 was ¥ 30,000. Sales amounting to

% 1,00,000 and purchases worth ¥ 50,000 were held between 31-03-2020 to 1.5-4-2020.
Goods are sold at 20% profit on sales. Values of Inventory as on 31-03-2020 1s :

15-04-2020 = Ak Feg-gS B T 30,000 &1 31-03-2020 H_15-4-2020
& &= T 1,00,000 H R W T 50,000 F @S H T AW BRI W
20% T 9 J= ST ¥ 1 31-03-2020 T €GN BOAT ©

(1) %3,50,000 (2) ¥2,70,000
(3) X 3,00,000 (4) 3,30,000

Opening Inventory 1,000 units at ¥ 4 per unit; Purchases 1,200 units at ¥ 5 per unit;

Sales at the end 2,000 units at ¥ 8 per unit, find out the profit under weighted average
price method :

aafT gt 1,000 gfew T 4 i gie & X §; T 5 9fd gie @t 'X |
1,200 e @dear B; 2,000 sHEdl & o H T 8 iy gfe @t X ¥ R,
MR SEd Iod ISIT & qeaq TH B G FY

(1) ¥ 6,000 (2) T 6,909
(3) 36,900 (4) X 7,000

Partnership deed is also called ............ .

(1) Prospectus (2) Atrticles of Association
(3) Principles of Partnership (4) Articles of Partnership
SICE Rl A A R fl el S & |

(1) dredses (2) oTféeher 3l AU

(3) TEEr & =i (4) 9= & Iiatiay

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)
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41. Controlling means ensuring that activities in an organization are performed as per
the............. .
(1) Plans (2) Goals
(3) Resources (4) Nota
Rrior @ o a gRREd & ¥ e B dmed § afffEr »
ATER & Sl |
(1) A (2) e
(3) HaraT (4) AT

42. What should be the 'focus point' for a Manager while controlling, as controlling at each
and every step is not possible ?

(1) Special area (2) Key result area
(3) Normal area (4) Nota

Wﬁww%m‘mmw@maﬁqmﬁﬁﬁam
g =T AT 9@y g J8T e 7

(1) Sy &= - (2) geA 9o &
(3) EM &= (4) Arer
43. An effort to control everything may end up in controlling nothing is related to :
(1) Critical point control (2) Management by exception
(3) Management by information (4) Nota
w@aﬁﬁﬁaaﬂﬁmm@ﬁﬁﬁﬁﬁaﬂ%ﬁwam%ﬁmﬁ
qefed ® ¢
(1) mrewagef fig Fe=eT (2) YA BT S
(3) AT BN F=ET (4) Arer

44. Name the function of management which helps in the formulation of future plans, in
the light of the problems that were identified and thus, helps in better planning in the
future period.

(1) Planning (2) Organising (3) Directing (4) Controlling

TEye B I6 HA H A AT S Ul T8 GHErS & e § afasy #i
Aomrell & fHEOrT ¥ AeE Har @ o 39 B, "ias @ oafy § Feax
Aot S F HEE B B

(1) Qs (2) SAESH (3) Fds= (4) ferisror
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B) P.T.O.
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46.

47.

48.

Identify an important principlé of management control in which only significant

deviations which go beyond the permissible limit should be brought to the notice of
management.

(1) Management by control (2) Control by exception
(3) Critical point control (4) Both (1) and (2)
yee e & O Ry @ qea HT forae B b SRS

S oTgRg @A W SN ,G—«%W%Wﬁwmﬂﬁm

(1) =T g’ S (2) fqare & FEE

(3) mewayet fag T @) (1) N (@) 3

Which of the follo;ving money market instrument is also known as Zero coupon
bonds ?

(1) Call money (2) Treasury bill

(3) Commercial paper 4) Commercial bill

Wﬁﬁﬁq—w@wwﬁwaﬁ%wﬁﬁww
?

(1) i A= (2) =0 & (3) FEifET 9 (4) pEfad ot
........... is the short-term finance repayable on demand, with a maturity period of one
day to fifteen days. ‘

(1) Call money (2) Treasury bill

(3) Commercial paper (4) Commercial bill

......... oF BT & dse RAr @ uRudedr of&fy & @ ART 9 gHH ard
SR fad 2 |

(1) sie == (2) 3o o

(3) smifEe AT (4) sEiEEe oe

Which of the following can be a Depository Participant (DP) ?

(1) Banks (2) Broker

(3) Financial Services Company (4) All of the above
Brfafad § @ $9 us Rufed wiéfade (DP) & @ebar & ?
(1) 5= (2) ST

(3) fa<i &ar &9 (4) S Gl

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)
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50.

51.

52.

15

It has been made compulsory to settle all trades within how many days of the trade date

on a rolling settlement basis ?

(1) One (2) Two (3) Three
e B T B Rea Rl @ e a3 F AR ewHe B AT
fRygemT Sfar &% fRar @ @ 7

(1) T @) & @) (4)- AR

(4) Four

.......... is an institution or organization, which holds securities in electronic form, in

which trading is done.

(1) Stock exchange (2) SEBI

(3) Depository (4) Nota

......... qzsﬁwqu%,sﬁgﬁa@ﬁﬁrgaaﬂﬁ%mﬁm%,
R IR fRar S

(1) Ef TSt (2) &<

C)RELRINIES (4) AT

The minimum and maximum number of partners in a partnership firm are :
(1) 2 and 100 respectively (2) 2 and 20 respectively

(3) 10 and 100 respectively (4) 10 and 50 respectively
@a@mﬂtﬁﬁﬁa@aﬁaﬁwaﬂ?aﬁmﬁﬁw%:

(1) = 2 3T 100 (2) sHH: 2 3K 20

(3) | 10 ST 100 (4) A 10 50

The only feasible purpose of financial management is :

(1) Wealth maximisation ) (2) Sales maximisation
(3) Profit maximisation (4) Assets maximisation
Rrfrr wee T dae A 3% ® ¢

(1) g SAfERaHIR LT (2) fesi aiftrepastenTor

(3) @TH SATERTHIB LT (4) dufxr AfepaHIRIT
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53.

54.

95.

56.

57.

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)

(1) Social marketing

Which of the following laws governs partnership form of business organization ?
(1) Indian Partnership Act, 1930 (2) Indian Partnership Act, 1932
(3) Indian Partnership Act, 1940 (4) Indian Partnership Act, 1952

ﬁw%f@aﬁﬁiﬁﬁ-mwmwmmﬁ%mﬁr&w@f%
HIAT & ?

() et Tt offerm, 1930 (2) e a@iard siffras, 1932
(3) Sl W oo, 1940 (4) e AEE STREE, 1952

How many companies are included in the SENSEX of India ?

W%ﬁéﬂﬂﬁﬁlﬁﬁaﬁcﬁﬁwﬁa%?

(1) 30 2) 37 (3) 40 (4) 60
Registration of Cco-operative society is ........... .

(1) Optional (2) Advisable (3) Compulsory  (4) Preferable
HEH Ay 1 Gofeeor L. el

(1) =i 2) s9® IFg (3) orferemt (4) rfemrh
Who has the power to take decisions in a cooperative society ?
(1) Members of cooperative society

(2) Elected managing committee

(3) Government (4) Customers

Hﬂ'&ﬂﬁrﬁrﬁﬁrﬁa%ﬁa&sﬁﬁﬁmﬂ%w%?
(1) Sl wfEfy & gee (2) Faifer s Ry
(3) IR

Tele-marketing is the part of ;

(2) Direct marketing
(3) Viral marketing

S-HThie T feedr B
(1) ™t fagos &r
(3) IERS AT HT

(4) Relationship marketing

(2) Ter faqury o5
(4)&%3%#@%1@
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58. What is the maximum number of members in a private company ?
(1) Unlimited (2) 100 (3) 200 (4) 500
wh ol ®uel & et o stfehan g feael Ekl § 7
(1) s&fya (2) 100 (3) 200 (4) 500

59. When can a public company commence its business ?
(1) After obtaining the certificate of commencement

(2) After obtaining the licence

(3) After obtaining the certificate of incorporation
(4) All of the above

1% HIESIHD BUHT ST ZAHE F & H qbeil & 7
(1) 9TXH P JHU-GF U HIA P 915

(2) ATSEE U HE D A€

(3) FFEE & FHIO-OS W B B S8

(4) SUAH G

60. A private company can commence its business after obtaining which of the following ?
(1) Licence
(2) Certificate of incorporation
(3) Certificate of commencement
(4) All of the above

T el eudl e # @ 68 9 w9 @ 9" ST HaeE e &}
Tehell ® 7

(1) ss&d

(2) = 1 gHO-9
(3) {H h1 FHATOT-9H
(4) U A

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B) P.T.O,
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61.  Which of the following represent capital receipt ?
(1) Subscription from Members (2) Donation
(3) Entrance Fees (4) All of the above
e & & B 7 wif @1 SR s § 7
(1) 9=t 9 SigEE (2) &=
(3) AT (4) S9AH G

62. Liability of a shareholder is limited to .......... of the shares allotted to him.

(1) Paid up Value (2) Called up Value

(3) Face Value (4) Reserve Price

Th SIS & S Iq oAEfed s & ..oenen.ns der Siffa @&ar B
(1) IhaT T (2) |FT T T
(3) sifenT goo (4) STRfe oo

63. The shares on which there is no any pre-fixed rate of dividend is decided, but the rate

of dividend is fluctuating every year according to the availability of profits, such shares
are called :

(1) Equity share

(2) Non-cumulative preference share
(3) Non-convertible preference share

(4) Non-guaranteed preference share
W%ﬁwwﬁmﬁﬂﬁéﬁ—ﬁrﬂ?ﬁﬁﬂﬂﬁ@?ﬁ% q T A § Al

Wﬂﬂ%&tﬁwaﬁw%mﬁww—wéﬁm%@
AU P FHET ST B

(1) s o (2) I-w==A Toar Sw
3) -+ adzar E% @) T-RAsa adgar e

64. Maximum limit of Premium on share is :

(1) 5% (2) 10%
(3) No limit (4) 100%
T 9T it @ stfdesaw @ ®

(1) 5% (2) 10%
(3) B w7 (4) 100%

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)
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g5. Which of the following items is nof a part of subscribed capital ?
(1) Equity Shares (2) Preference Shares
(3) Forfeited Shares (4) Bonus Shares
PrfeRa & @ Be-d aeg ofwee GOt &1 AFT 78T 8 7
(1) 3T MR (2) adTar R
(3) ST AT (4) T MR

66. A Ltd. Purchased the assets from B Ltd. for ¥ 5,40,000. A Ltd. issued 10% debentures
of ¥ 100 each at 20% premium against the payment. The number of debentures
received by B Ltd. will be :

A%%B%ﬁ%@%ﬁqﬁﬁ?s,m,ooo%aﬁﬁaﬂé’hA%ﬁ%@ﬁ
wﬁ%mﬁzo%sﬁﬁwwﬂooq@zﬁ%w%wwﬁﬁmm
fafiee ar ur o & 9 B8R e

(1) 4,500 (2) 5,400
(3) 45,000 | (4) 6,000

67. Interest on debentures issued as a collateral security is paid on :
(1) Nominal value of debentures
(2) No interest is paid
(3) Face value of debentures

(4) Paid up value of debentures

Wfﬁamqﬁﬁﬁr%wﬁaﬁﬁﬁqm.%(w)wmzﬁrw
fepar ST @

(1) fESax @ A T
(2) P =T e R S ®
3) fe¥ex @ offkd TFd
(4) feaR @1 US-39 T

- PG-EE.2023/(M. Com. Hons)(Five Yr)-SET-X)/(B) P.T.O
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debenture iSSUC must be
68. As per SEBI guidelines an amount equal to ..oooeeeet of the begins
n .
transferred to Debenture Redemption Reserve before redemptio

sqET TR B
¥ 3 RenfrEet @ orgER, R¥ G P oo % e | %.
g@@%a@%@ama@wmméamﬁﬁﬁmm |

(1) 25% ) 80%
3) 50% (4) 100%

1 9
69. Which of the following is nof required to be prepared under the Compani€s Act?

(1) Statement of Profit and Loss
(2) Balance Shect
(3) Report of Director's and Auditor's

(4) Funds Flow Statement

mﬁmﬁﬁm%aﬁﬁmﬁrﬁaﬁﬁﬁﬁqm%ﬂﬂmﬁaﬁmﬁ
B 7

(1) @7 IR 'if @ faaer

(2) St <he
(3)%&3@@1%@@%2&?@2‘
(4) Fs T ReHE

70. 'Accumulated Dividend Arrears’ on preference shares is shown in the Company"
Balance Sheet as :

(1) Current Liability  (2) Contingent Liability

(3) Commitments (4) Short-term Provision

afer d9d T AR iy SHEr O B M e ¥ sq ger far
™R |

(1) e e (2) SRR X

(3) sferra (4) SRS e

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)




71. For whom the Analysis of Financial Statements is not significant ?

(1) Investor (2) Government

(3) Ambassador of Indja (4) Company's Employee
R T Rrr et @ s wewrget 77 2 7
(1) Fasrs (2) TR
(3) T & roTeg (4) o B FHET
72. The most commonly used tools for F inancial Analysis are :
(1) Comparative Statements

- (3) Accounting Ratios

(2) Common Size Statement

(4) All of the above
Wﬁﬁw%mmmwmmww%:
(1) I forareen (2) THRT SR & fREwer
G) St s (4) T @

Revenue from Operations less cost of Revenue from Operations is called :
(1) Net profit

13.

(2) Operating profit

(3) Gross profit " (4) Total profit
w%mmmﬁmﬁwﬁwmw%:
(1) = @™ (2) 9R=w™ s

(3) EHT AT (4) BT @

74. Main objective of Trend Analysis is :
(1) To make comparative study of the financial statements for a number of years
(2) To indicate the direction of movement

(3) To help in forecasts of various items

(4) All of the above

T fsdwr & ogEr R R

(1) 7% auf & < fExelt &1 oS STeEgs Sy
(2) STidye & Rem @ 3P B B R

(3) Ry w3t & qaigae d Aag BT

4) Sus gt
PG‘EE-zﬂzzxm_ Com. Hons)(Five Yr.)-(SET-X)/(B) ' “H 10 ‘ P: T. Q.
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75. Two basic measures of liquidity are :

(1) Inventory turnover and Current ratio
(2) Current ratio and Quick ratio
(3) Gross Profit ratio and Operating ratio
(4) Current ratio and Average Collection period
Tty (Rfrafed) & & g som & -
(1) §98 =Hofex olX ada™ st
(2) T ST o) @Ra T

(3) TS W U AR aREe ST
(4) TN oI &R od |y ofafy

76. A company's liquid assets are ¥ 10,00,000 and its current liabilities are T 8,00,000

Subsequently, it purchased goods for Z 1,00,000 on credit. Quick ratio will be :

TH DU B T Hu T 10,00,000 ¥ &R zEEA =g ST T 8,00,000 ¥
T &, AT IR W X 1,00,000 F At @ar | @fRe AT B

(1) 1.11:1 ) 1.22:1
(3) 1.38:1 - 4) 1.25:1

77. Proprietary Ratio is :
(1) Long term Debts/Shareholder's Funds
(2) Total Assets/Shareholder's Funds
(3) Shareholder's Funds/Total Assets
(4) Shareholder's Funds/Fixed Assets
w@WiiE STU 8
(1) &<t sl & Fov/dTas @ Ay
(2) o Hul/aares & A
(3) ST B FiyEs daRy
(4) TURF JH FAfA/er=e gafRy

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)
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8 A Firm's credit revenue fro
¥70,000. Cost of revenue

AT § TH B gy
g HERH ¥ Tore

(1) 11%
(3) 18%

m operations is ¥ 3,60,000 cash revenue from operations is
from operations is ¥ 3,61,200. Its gross profit ratio will be :

BET o ¥ 3,60,000 T dureE A FHE o T 70,000
E'%_W 3,61,200 B | SHHT FHT TTH IR BFT :

@) 15%
@) 16%

79. While calculating operating profit which will be added to net profit :

(1) Preliminary Expenses Written off
(2) Depreciation

(3) Loss on Sale of Asset

(4) All of the above

Wwﬁwmw%gmmﬁ@?ﬁm?
(1) 9IR¥% =7 92 @ ¥ =

(2) qeaEE

(3) Hulr = et WX gpEE

(4) S0 g

80. Where will you show purchase of Goodwill in a Cash Flow Statement ?
(1) Cash Flow from Operating Activities
(2) Cash Flow from Investing Activities
(3) Cash Flow from Financing Activities
(4) Cash Equivalent
BY G Wede F AU Ty Iuare HEl ey ?
(1) uRerew RRfRE @ T68 s@w
(2) Frasr nfafafedt @ A<l qaE
(3) g wfafafdt | Al Same
(4) 7 FHHE

"-28-2022/(M. Com. Hons)(Five Yr)-SET-X)(B)
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81. Hina is a partner in a firm. She withdrew ¥ 6,000 in the beginning of each quarte,
during the year ended 31st March, 2021. Interest on her drawings @ 10% p-a. will be .

1 o & & WeR ¥ oww 31 A, zozlﬁmﬁ%mﬁmmﬁﬂ“ﬁmq
% 6,000 & e R aﬂ%mww@lo%nﬁrﬂm

(1) 900 (2) T 1,200
(3) ¥ 1,500 (4) %600

82. A, B, C & D are equal partners in a firm. They changed the profit-sharing ratio g

2:2:1: 1. Calculate sacrifice or gain ratio.

T % ¥ A, B, C @R D a1 3 wiar ¥ I q-asee g B 2 : 2
0§ S A @0 A a9 o B TR B

(1) 124 (2) 1/12
4) 1/6

1:13

(3) 1/10

83. Weighted average method of calculating goodwill is used when :

(1) Profits are not equal (2) Profits show a trend

(3) Profits are fluctuating (4) None of the above

@y 1 o & ke ol Ry @ s s ®, o
(2) 99 T "9 R 2

(1) @t gAF & 8
(4) IUA<h H q HF T&F

3) @9 ¥ Sa-Tga & @M T

A. B are partners in the ratio of 3 : 2, they admitted C for 1/4 share in the profits which

84.
he acquires equally from A and B. Calculate the new ratio :

A B 3:2 & gUE ¥ AEER F, I C & @ 7 1/4 ey 3 fog wfas
mﬁ%AﬁTBﬁWW@WW%IWe@maﬁwaﬁ
(1) 9:6:5 (2) 3:3:2

(3) 3:2:4 (4) 19:11:10

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)
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When the new paryye, does not bring his share of goodwill in cash, the amount 1S
debited to :

(1) Cash A/c

(2) Premium A/c
(3) Current A/c of the NeW partner (4) Capital A/cs of the old partners
SRR IS E ey

&y & ¥ w6t @mr B, @ Uiy @ M
s S I R F TH

(1) g TTar §

(2) shftgw @mar
(3) T RN F =g ary &

4) @A ArRERt & Gof @ &

A, B and C are partners ip the ratio of 3 : 4 : 2. B wants to retire from the firm. The

profit on revaluation on that date was ¥ 36,000. New ratio of A and C is 5 : 3. Profit on
revaluation will be distributed g -

ABRC3:4:2% orum & wdere 21 B o & dafirge & =T 3
W%ﬁqﬁﬂq‘iﬂifﬁqwamﬂﬁ,ooo qT1 A &R C &1 797 o9 5:3 B
TEHPT 9 AT 56 B Rl Rear oo

(1) AT16,000; B 12,000; CZ 8,000 (2) A% 12,000; B % 16,000; C Z 8,000

(3) A 22,500; C % 13,500 (4) AT22,625;CZ 12,375

On the death of a partner, the amount due to him will be credited to :

(1) All Partners' Capital Accounts (2) Remaining Partners' Capital Accounts

(3) His Executor's Account (4) Governments' Revenue Account

Tk HEER & T UX, SY 37 RN 54 o
() @ff aert & Gt @ & (2) 99 Bl & §f any &

(3) Sus e & @ o (4) TR B o @y ¥

At the time of dissolution of partnership firm, fictitious assets are transferred to:
(1) Capital Accounts of Partners (2) Realisation Account

(3) Cash Account (4) Partners' Loan Accounts

AT B ReT & @, ST WORT B iR R o b
(1) gt & @0 @t & (2) T @ F

() e @l A (4) SRR & o @y A

l h‘EE‘mZZI(M. Com. Hons)(Five Yr.)-(SET-X)/(B) £ 1.0,
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m's dissolution; it was sold for

89. An unrecorded asset was valued at ¥ 1,00,000. On fi
52%. Realisation account will be credited with :

(1) ¥ 52,000 (2) 48,000

(3) ¥ 1,00,000 (4) None of the above "
us sfeRad 9T & g9 T 1,00,000 or| G @ fged € ¥ 2% EE|
T g @i H ST fREr St

(1) 52,000 % 4rer
(3) 1,00,000 & e

(2) 48,000 % €™
(4) ST & & P T

90. If General Donation of huge amount is received by 2 school, that donation is treated

as .

(1) Revenue Receipt (Income) (2) Capital Receipt (Liability)

(3) Assets . (4) Earned Income

afy fred RereE @ G @ § s i g e g, ar 39 T B HM
ST ©

(1) TTEd wieT (37m) (2) e e (@)

(3) "@afr (4) oRfa o

91. Pick the odd one out :

(1) Owner's equity (2) Drawings

(4) Net assets

(3) Net worth

fawT & A -

(1) @ @& sferEdt (2) STBTOT

(3) fast goa (4) Fae Hafa

92. Accrual concept is basedon ............ ;
(1) Going concern concept (2) Cost principle

(3) Matching principle (4) Dual aspect principle

NG STIELROM eoeeeneenee q¥ TR 2|
(1) MST HEA B (2) @ra Esig
3) fore fasia (4) ST ey Faia

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)




27

Is

g3. Internationa] Fiﬂancial
(1) IFRS Committee

Reporting Standards (IFRS) are issued by :

(3) Internationa] Accouming Committee
(4) None of the above

(4)Gu'h?sﬁ®r'éﬁ§=,g

. Which source o & : .
94 document IS Issued by a trader when he receives cash from the
customer ? ,

(1) Receipt (2) Cash memo (3) Cheque (4) Pay-in-slip

gﬁmmmwmmzﬁ#m@amwmw

(1) =" (2) Ber Ay 3) = (4) T-39-Rerg

9. Which of the following is/are objectives of GST ?
(1) To maximize tax rate slabs
(2) To restrict the movement of goods across the country

(3) To eliminate classification dispute between goods and services

*(4) All of the above |

Mol & & P-ard shoad @ 2w 2 2

(1) 2 7 @9 # w50 3 *ig

Q) 391 s F 1oy Y STESTE Y AR BT

0) Tegeit o Aarell & i aFfeT B B @ e

(4) STirp ash

022, Com. Hons)(Five Yr.)-(SET-X)/(B)
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96. Ledger is called as book of final entry.
(1) True (2) False (3) Can'tsay (4) Partially true
AT ST afafe Y g mer s B

(1) v @) s (3) & @& wwA (4) ARH T T

97. What does credit balance of bank account in cash book signify ?
(1) Overdraft (2) Cash deposited in bank

(3) Cash withdrawn from bank (4) None of the above

(1) SNaRgTH 2) Fp F ST TR
3) ¥ & TH frepreh (4) IR F F B AL

- . ST— issued by the Institute of Chartered Accountants of India (ICAI) defines

- depreciation.
(1) Accounting Standard-5 (2) Accounting Standard-4

(3) Accounting Standard-6 (4) Accounting Standard-7
........... AT 9ed Thedey e (enmseiuetE) arr S fRar
HTIEH T IRHINT Har 21 |

(1) J@r 7HH-5 ) d@r "HH-4
(3) @@r HHH-6 (4) T&T -7
99. A debit note is prepared by ................. .
(1) Purchaser (2) Seller
(3) Cashier (4) None of the above
Tp fae Ae ........... BT GAR R Star ® )
(1) sar (2) fashar
(3) &R (4) ST F q B 7
100. A bill of exchange is drawn by ............. .
(1) Shareholder  (2) Debtor (3) Creditor (4) Bank

&R0 A9 fRar ST 8

fafrma faet ..........
(3) =™ 4) ¥

(1) aREd () IRR

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(B)
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COT W . s .
For whom the Analysis of Financial Statements is not significant ?

1) Investor 3
(1) Investor (2) Government

(3) Ambassador of India (4) Company's Employce

Fhad e faier fawolt st fasaror weegel 78 2 2
(1) ases

(2) GBI

(3) ST & T (4) Fh & e

The most commonly used tools for Financial Analysis are :

(1) Comparative Statements (2) Common Size Statement

(3) Accounting Ratios (4) All of the above

ot faeqwor & e wed atftes SUaRT R ST 9T SUshiT @
(1) gerreHes feaxer (2) ETA HAERR I g
(3) wEiehT AT (4) SURAH G

Revenue from Operations less cost of Revenue from Operations is called :
(1) Net profit (2) Operating profit

(3) Gross profit (4) Total profit

ST & AT T e ST @ N B HeTht Hel Sl §
(1) = (2) qREE AT

(3) Hebel ATH (4) BT AT

Main objective of Trend Analysis is :

(1) To make comparative study of the financial statements for a number of years
(2) To indicate the direction of movement

(3) To help in forecasts of various items

(4) All of the above .

gty fredeer & g I T

(1) % aut & faeiig fR@Ewel &1 geern ST ST

(2) s @ R @ g s & e

(3) fafer= =af & qEgEE § ARS BT

(4) STUH G

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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5. Two basic measures of liquidity are
(1) Inventory turnover and Current ratio

(2) Current ratio and Quick ratio

(3) Gross Profit ratio and Operating ratio

(4) Current ratio and Average Collection period

el (Ffad) & & ghad aTm 2

(1) g edafay o adw S1gard

(2) ad amue ok @fa U

(3) EHa T U o afEred STgard

A company's liquid assets are T 10,00,000 and its current liabilities are < 8,00,000.
Subsequently, it purchased goods for ¥ 1,00,000 on credit. Quick ratio will be :

o FHH F I FURT T 10,00,000 B iR e =g Al T 8,00,000 2
$EF 916, 39 IR 9 2 1,00,000 ¥ el @dier | @fRd SIue 26T

(2) 1.22:1
(4) 1.25:1

(1) I.11:1
(3) 1.38:1

7. Proprietary Ratio is :
(1) Long term Debts/Shareholder's Funds
(2) Total Assets/Shareholder's Funds
(3) Shareholder's Funds/Total Assets
(4) Shareholder's Funds/Fixed Assets
[Sltre! ST g
(l)ﬁm%w/ﬂmwﬁﬁfﬁ
(2) T dafedETare @ Ff
(3) SrraT 1 g Gt
(4) AU o fa/srad quf

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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8. :;;11‘111 S ciedit r?venue from operations is T 3,60,000 cash revenue from operations is
.000. Cost of revenue from operations is ¥ 3,61,200. Its gross profit ratio will be :

;ﬂﬂj T uh B H1 e g T 3,60,000 B HAGA G Ahs e T 70,000
| T @ ISR A anTd 3,61,200 ¥ 13U Gehel @1 SIS BN

(1) 11% (2) 15%
(3) 18% (4) 16%

9. While calculating operating profit which will be added to net profit :
(1) Preliminary Expenses Written off
(2) Depreciation
(3) Loss on Sale of Asset
(4) All of the above
Wwﬁmmwﬁéﬂawﬁﬁh@mﬂ?
(1) yR¥% =g g8 @d 7 S
(2) qa=rd
(3) dufxy @1 feshl IR FHE
(4) IR<h |l

10. Where will you show purchase of Goodwill in a Cash Flow Statement ?

(1) Cash Flow from Operating Activities
(2) Cash Flow from Investing Activities
(3) Cash Flow from Financing Activities

(4) Cash Equivalent
%ﬂqﬁréﬁzﬁaﬂq@rﬁmﬁsﬁﬁﬁﬁ@ﬁﬁ?

(1) o Tifafesl & Fedl seme
(Z)ﬁ%ﬂﬂﬁﬁﬁﬁ?ﬁﬁﬂﬁm
(3) fa<ig wfafafedl @ Fedl MA@
(4) FTHa GHBE

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C) P.T.O
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11. Hina is a partner in a firm. She withdrew ¥ 6,000 in the beginning of each qQuartey

during the year ended 3 st March, 2021. Interest on her drawings @ 10% p.a. will be .

mwmﬁm@m%nwﬁmma‘,zozleﬁrwmaé%wmmﬁﬂ%ﬂwﬁ
%6.ooowwmm:w%mwm@lo%wﬁaé@m:

(1) 900 (2) 1,200
(3) ¥ 1.500 4) %600

122 A, B, C & D are equal partners in a firm. They changed the profit-sharing ratio as

2:2:1:1. Calculate sacrifice or gain ratio.

@WﬁA,B,CaﬁTDw%H@q{%laﬁﬁw—ﬂmmajqﬁiﬁﬂjzl:l%
wﬁwmnmmmwmﬁmﬁ

(1) 1724 (2) 1/12
(3) 1/10 4) 1/6

13.  Weighted average method of calculating goodwill is used when :

(1) Profits are not equal (2) Profits show a trend

(3) Profits are fluctuating (4) None of the above

ST & o F R e /iy w e R s 2, o9
(1) s 999 =&t & (2) @9 & yghy e &

(3) @M § IAR-TeE B @ § (4) ST § q g T8

14. A, B are partners in the ratio of 3 : 2, they admitted C for 1/4 share in the profits which

he acquires equally from A and B. Calculate the new ratio :

A B 3:2 % U ¥ AERR &, SoM C & a9 § 1/4 e & fw e
fopar 5t @& A OTR B & &AM &Y § WIS AT | Y U FI qF B

(1) 9:6:5 (2) 3:3:2

(3)3:2:4 (4) 19:11:10

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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15. When the new

_ partner does not bring his share of goodwill in cash, the amount is
debited to ;

(1) Cash A/c (2) Premium A/c

(3) Current A/c of the new partner (4) Capital A/cs of the old partners

mwm@ﬁ%m%@ﬁwﬁﬁm%?ﬁﬂﬁﬁéﬁz
fopar STrer R

(1) 962 @rar § (2) sz @ 3
(3) QWK & arg w4 (4) 9O wEfErd 3 Ooft @ &

16. A. B and C are partners in the ratio of 3 : 4 : 2. B wants to retire from the firm. The
profit on revaluation on that date was ¥ 36,000. New ratio of A and C is 5 : 3. Profit on
revaluation will be distributed as :
A,Ba?rrc3:4:2%m§qmﬁwW%leﬁﬁéﬁaﬁ?ﬁ@mm%l
Wﬁf_ﬁﬂ%&ﬂ%ﬁmwwnmé,ooo A A A C HF1 AT 5:3 T
ITTHT W A9 369 g faaia fean s -

(1) A% 16,000;B 2 12,000; CX 8,000 (2) A% 12,000; B ¥ 16,000; C 8,000
(3) AR 22,500;C% 13,500 (4) AR 22,625;CT 12,375

17.  On the death of a partner, the amount due to him will be credited to -

(1) All Partners' Capital Accounts (2) Remaining Partners' Capital Accounts
(3) His Executor's Account (4) Governments' Revenue Account

U |IHAN H P0G W, ST 37 [N Sy & sy -
(1) |+ "t & Ooft @y # (2) A "EER B Fft @y §

(3) 3u% s & @ & (4) "R & TorRE @ i

18. At the time of dissolution of partnership firm, fictitious assets are transferred to ;
(1) Capital Accounts of Partners (2) Realisation Account
(3) Cash Account (4) Partners' Loan Accounts
e & & Qe & g9y, ST it B wreiafia fear sier ©
(1) d=eERt & 9o @r § (2) T @ H
(3) g @ § (4) R & For @« §

"G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C) P.T.O.
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19.  An unrecorded asset was valued at T 1,00,000. On firm's dissolution, it was so|q for
52%. Realisation account will be credited with :

(1) 52,000 (2) % 48,000
(3) ¥ 1,00.000 (4) None of the above

wa%w‘iaaaﬁ%aﬂgm%l,oo,ooomnmﬁ%ﬁmwsﬁﬂ%ﬁ%m
T TG @ F s gy s

(1) 52,000 3 ey (2) T 48,000 & @1
(3) T1,00,000 3 ey (4) 3w F q HE T
20. If General Donation of huge amount is recejved by a school, that donation is treated
as
(1) Revenue Receipt (Income) (2) Capital Receipt (Liability)
(3) Assets (4) Earned Income
ﬁwmﬁmmﬁﬁwmma?ﬁ%,ﬁrwmaﬁw
ST ®
(1) T ity (o) (2) Iofmer sy (aiferee)
(3) =ufr 4) ¥ s
21.  Pick the odd one out -
(I) Owner's equity (2) Drawings
(3) Net worth (4) Net assets
(1) @M %1 sfed (2) smmEer
OREESE: (4) Faw dafy
22, Accrual conceptis basedon ............ :
(1) Going concern concept (2) Cost principle
(3) Matching principle (4) Dual aspect principle
SIGHAT STaETO L T SR B |
(1) MET Fad Faw (2) 9 s
(3) P fasta 4) e veq Fawara

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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23. Internati nt .
lonal | ““‘“lell Reporting Standards (IFRS) arc issued by :

(1) IFRS Committee

2) Int i
(2) ernational Accounting Standards Board

3 N
(3) International Accounting Committee

(4) None of the above

SIS ety RfdT s (0RS) Rredh arer o e omd B 7
(1) STRUHARTY Hi

(2) ST @ T 9

(3) S JEr |y

(4) ST ¥ q HE 7

24. Which source document is issued by a trader when he receives cash from the
customer ?

(1) Receipt (2) Cashmemo  (3) Cheque (4) Pay-in-slip

ek § dhE WG HT X AN &R -9 A a&des S far S
g7 |

(1) = (2) B 7 (3) T (4) v-z9-Rara

25. Which of the following is/are objectives of GST ?
(1) To maximize tax rate slabs
(2) To restrict the movement of goods across the country
(3) To eliminate classification dispute between goods and services
(4) All of the above
e & @ B-aUA Swed B R B 7
(1) ¥ aX WF & SAEHa HA & [T
(2)%31mﬁqmaﬁammr€taﬁq%@ﬁm
(3)a1§aﬁaﬁ1amaﬁ%eﬁaa1ﬁaﬂw%mﬁ@mm
(4) I aH

.T.O.
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C) P



26. Ledger is called as book of final entry.
(1) True (2) False
(3) Can't say (4) Partially true

T F Sife wfafte Y qede der omr |

(1) 99 (2) s18cq
(3) & &8 Tha (4) 37if3Eer &9 9 9A
27. What does credit balance of bank account in cash book signify ?
(1) Overdrafi (2) Cash deposited in bank
(3) Cash withdrawn from bank (4) None of the above
maﬁﬁ%@ﬁaﬂwﬁﬂwmﬁm%?
(1) g 2) 5 §F S Ay
(3) S F THe Frepr (4) STk 7 & P &
28. ... issued by the Institute of Chartered Accountants of India (ICAI) defines
depreciation.

(1) Accounting Standard-5 (2) Accounting Standard-4

(3) Accounting Standard-6 (4) Accounting Standard-7

........... W A uhedew dWed (smseiuerd) amr o Rear
JTHEE I RIS e B
(1) & AM5-5 (2) @1 AMH-4
(3) @1 9%-6 (4) @@r qeE-7
29. A debit note is prepared by ................. :

(2) Seller

(1) Purchaser
(4) None of the above

(3) Cashier

o Sfge e ... 0 A9 fapar sirar B
(1) shar (2) feshar
(3) BRER (4) IWRE F q FH T8

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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30. A bill of exchange is drawn by

(1) Shareholder (2) Debtor

(3) Creditor (4) Bank

fafa foe AT AT A sidr
(1) SR (2) AeTATL
(3) FER 4) ¥
31. gontmlling means ensuring that activitics in an organization arc performed as per
1 I :
(1) Plans (2) Goals
(3) Resources (4) Nota
Wwaﬁ%gﬁﬁmm%ﬁsﬁﬂﬁwﬁnﬁﬁfw ......... %
FTER & S ¥ )
(1) A (2) e
(3) HaTEH (4) e

32. What should be the 'focus point' for a Manager while controlling, as controlling at each
and every step is not possible ?

(1) Special area (2) Key result area
(3) Normal area (4) Nota

qx Frg=er weT d@ea TJE@© 7

(1) fagw &= (2) g&A 9o &=
(3) |ME & ) (4) Frer
33. An effort to control everything may end up in controlling nothing is related to :
(1) Critical point control (2) Management by exception
(3) Management by information ~ (4) Nota
W@ﬁﬁﬁmmm@%ﬁﬁﬁ%ﬁwftwaw%,ﬁmﬁ
Hefed B
(1) eyl feg HE=mT (2) AT BRI SeE
(3) FEAT &R EEA (4) Arer

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C) P.T.O.
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. - . ation of future plan. .
34. Name the function of management which helps in the l()f’;nl‘ll‘r:lbc”cr p]anmnpp i’::’ i
the light of the problems that were identified and thus, helps i 1 RURTH

future period. ' .
(1) Planning (2) Organising, (3) Dirccting (4) (,uni,rolh-ng

999 § Ig F FH oA gdiEu S5 gsH T qH Hﬁ %+ "ﬂT'v"TT’W‘ o T{frpf‘{ ,"{'T
AT B Fmfor § wag ey 2 ale 50 Uy, g Al HAAT T ey,
AT F99 F qag gear B

() =t (2) SISt (3) frrdar
ant principle of management control in which only Signi'ﬁcam_
o beyond the permissible limit should be brought to the notice of

(4) ferH=ror

35. Identify an import
deviations which g

management.
(1) Management by control (2) Control by exception

(3) Critical point contro] (4) Both (1) and (2)

ERREREEEL S =i &1 wewr &Y forad da geeagt fagem
a‘r@u%ﬁm@ﬁmﬁ ) O THYT & e § @y s = l

(1) FRIoT &RT e (2) ST9eme & Fefsror

(3) HEYel fig fymsor (4) (1) X (2) =Y

36. Which of the following money market instrument is also known as zero coupon

bonds ?
(1) Call money (2) Treasury bill
(3) Commercial paper (4) Commercial bill

W@aﬁéﬁ-mwwwmﬁﬁwaﬁ%mﬁﬁww
g7
(1) FT g (2) 5T foa (3) BHffEE 0R (4) FRRE e

37. ... is the short-term finance repayable on demand, with 2 maturity period of one

day to fifteen days.
(1) Call money
(3) Commercial paper

(2) Treasury bill
(4) Commercial bill

---------

(I) ret =1 (2) 3ot farwt
(3) FMftae quR (4) wimfafaer faer
G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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38. Which of'the tlxllo\\'ing can be a Depository Participant (DP) ?

(1) Ranks (2) Broker

() Finandial Services Company (1) All of the above
#\..ﬂ:$-§;¢;‘\\: S ¢ . . . - -

TN A B uw Rfed afffite (0P) 8 e ¥ 7
() % (2) sleh?

Q) R Qo s (4) Suh a9

39. It has been made compulsory to settle all trades within how many days of the trade date
on a rolling settlement basis ?
(1) One 2) Two (3) Three (4) Four
SR 1 T & R Ry & ofiow a9t 337 & A Feertz B AeR 0¥
U et &Y fRar mr ¥
(1) T @) & (3) < (4) =R

40.

.......... 1s an institution or organization, which holds securities in electronic form, in
which trading is done.

(1) Stock exchange (2) SEBI
(3) Depository (4) Nota

......... Th T A ded 8, S ufo{adl R ol 'O a2,
e =R o ST B

(1) Sl TSt (2) |t
(3) frErm (4) e
41. The minimum and maximum number of partners in a partnership firm are :
(1) 2 and 100 respectively (2) 2 and 20 respectively
(3) 10 and 100 respectively (4) 10 and 50 respectively
U GEE BH § ARERl @ gAqH AR ST Ee @
(1) =FHST: 2 3T 100 (2) HHT: 2 AR 20
(3) =HeT: 10 3T 100 (4) sHeT: 10 AR 50

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C) P.T.O.
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42.

43.

44.

45.

46.

nancial management 15 -

T casible purpose of fi
I'he only feasible purpose o
. (2) Sales maximisation

& aximisation
(1) Wealth maximisa nisate
(4) Assets maximisation

(3) Profit maximisation

Rrdie g F7 A raerl 98ed ©
(2) ferht arferemdHIeh 70T

(1) &1 afferpaHih T
(3) @ ST uHIHIHT (4) dafer arferepa e LT
nization ?

T : - i orga
Which of the following laws governs partnership form of business 0rg

(1) Indian Partnership Act, 1930 (2) Indian Partnership Act, 1932
(3) Indian Partnership Act, 1940 (4) Indian Partnership Act, 1952

Wﬁﬁé%ﬁ-mwwﬁmw%ﬁwmﬁmﬁ

HT 8 7
(1) sTe aEerl sffms, 1930 (2) 9Raw gEera SAef=aH, 1932

(3) sReTa FEard Hfefem, 1940 (4) W @R s, 1952

How many companies are included in the SENSEX of India ?

ARd & 9999 H fd=l safar enfae € °
(1) 30 (2) 37 (3) 40 (4) 60
Registration of co-operative society is ........... :

(2) Advisable (3) Compulsory  (4) Preferable

(1) Optional

(1) Jepfeqes ) aeE drg (3) sifyart (4) rfemrR

Who has the power to take decisions in a cooperative socicty ?

(1) Members of cooperative society (2) Elected managing committee

(3) Government (4) Customers

qehrl qfifa d Aoy a9 at 9ifp feas qrg & 7
(1) Tewil afafy & qae (2) Fraifea wey affy

(3) T (4) TTE

>G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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47. Tele-marketing is the part of
(1) Social marketing (2) Dircct marketing

(3) Viral marketing
%ﬁ'ﬁ*qﬁﬁﬁ %WT % :

(1) IS fyqory gy

(4) Relationship marketing

(2) "cHer 9o <R
() ARSI 5y (4) R Tt

48. What is the maximum number of members in a private company ?

(1) Unlimited

(2) 100
() 200 (4) 500
Th ST but ¥ gaedt 9 erfteraw s Reaet et @ 2
(1) i (2) 100
(3) 200 (4) 500

49. When can a public company commence its business ?
(1) After obtaining the certificate of commencement
(2) After obtaining the licence
(3) After obtaining the certificate of incorporation
(4) All of the above
HIE TESIE HIA I FTHE FI & HL I & 7
(1) 9T BT THOL-TS W< A & o6
(2) AZEYE 9T FA &b G
(3)%%%—@%%@%&1&
(4) IYAH Gl

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C) P.T.O.
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51.

52.

C

. (03
fier obtaining which of the followmg?
alte

) —
¢ its busIiness
50. A private company can commence 1t

(1) Licence

(2) Certificate of incorporation
(3) Certificate of commencement

(4) All of the above
o Fofl o Frafeiag § @ Ba and T @ ae I I g8 B
Gehell & 7

(1) a5

(2) P &1 ST

(3) 9R¥ &7 FHTO-gy

(4) SU<p Tsf

Which of the following represent capital receipt ?

(1) Subscription from Members ~ (2) Donation

(3) Entrance Fees (4) All of the above

ﬁw%f@aﬁéﬁwiﬁﬁmmqﬁﬁmﬁrm%?

(1) g=F 9 sise (2) T
(3) yasT I (4) I gn

Liability of a shareholder is limited to ... | of the shares allotted to him.

(1) Paid up Value (2) Called up Value

(3) Face Value (4) Reserve Price

E{Eﬁa#srmamaﬁaaﬁmﬁaaisﬁ% .......... d% AT war
(1) g&Har 7w (2) AT T qoo
(3)?%’1@1 (4)341‘{%5[@

E-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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g3, The shares on which (e
of dividend is fluctyatip
are called :

(1) Equity share

re is no any pre-fixed rate of dividend is decided, but the rate
g every year according to the availability of profits, such shares

(2) Non-cumulative preference share
(3) Non-convertible preference share  (4) Non-guaranteed preference share

- frgifg &t T8 & ¥, F 79 89 B, AfHT
Wﬂﬁﬁﬁmﬁmfm%wamm—mém%,@

T B T Sty ®
(1) =Rt rae ) IR-d= ahFar A
(3) N-aRa i afmmr e (4) R-TREHa adaar R

54. Maximum limit of Premium on share is :

(1) 5% 2) 10%
(3) No limit _ (4) 100%
M I AT & erfepes o R

(1) 5% 2) 10%
(3) =g dr T2 | (4) 100%

55. Which of the following items is not a part of subscribed capital ?
(1) Equity Shares (2) Preference Shares
(3) Forfeited Shares (4) Bonus Shares
Frfitad & § -G aeg AET Yo & 9T 7 © ?
(1) = o ) Thaar A
(3) T A (4) S

56. A Ltd. Purchased the assets from B Ltd. for ¥ 5,40,000. A Ltd. issued 10% debentures
of Z 100 each at 20% premium against the payment. The number of debentures

received by B Ltd. will be :

A Rifire 3 B RifEes & &UR@T X 540,000 & "ad H @€l A Rifres
aﬂaﬂ%mﬁm%mﬁwwiloog@zﬁ%m%wwﬂﬁmm
Rifte 2ro oI koS @1 Ee Bl

(1) 4,500 (2) 5,400 (3) 45,000 (4) 6,000

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C) P.T.O.
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) ) C
ity is paid on :
57. Interest on debentures issued as a collateral security 1s pa
(1) Nominal value of debentures
(2) No interest is paid
(3) Face value of debentures

(4) Paid up value of debentures

R m%mﬁmmm@m(w)waﬁﬁm
Fpar srar .

(l)fééa—cawﬂmmagm

(2) B =T T Ry ey 2

(@WW@%@

(@%‘{?ﬁfﬁg—mgm

58.  As per SEB] 8uidelines an amoynt equal to .......... .. of the debenture issue must be
transferred to Debenture Redemption Reserve before redemption begins.
ﬁ@%%&ﬂ%ﬁ%aﬁeﬁ,%ﬁwa% .......... ® e AR B AT
IS 81 q ved fedey sm%éﬁwmmwml
(1) 25% (2) 80%

(3) 50% (4) 100%

59.  Which of the following is nor required to be prepared under the Companies Act ?
(1) Statement of Profit and Loss
(2) Balance Sheet
(3) Report of Director's and Auditor's
(4) Funds Flow Statement

Maﬁﬁm%aﬁﬁ'ﬁ%@aﬁéﬁww%ﬂnmaﬁmsm%
g7

(1) @ AR =ify 7 fgor

(2) a9 sfie

(3) MR IR Srar whiers & RO
(4) B2 w Reie

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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60. 'Accumulated Dividen

61.

62.

63.

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)

d TN ‘ i ' :
Batance Sheet 1o Arrears' on preference shares is shown in the Company's
(1) Current | Aability

O : (2) Contingent Liabilit
(3) Commitmeng § ¢

- g (4) Short-term Provision

9 T O e o ‘

TR U @i e wwh A A o # 3w e e
(1) T Joyeyy

; _ (2) SAHEE 2
(3) wtragqrny

(4) SRS ST
Management principles are very
(1) Flexible
(3) Dependent

............ whereas pure science principles are rigid.
(2) Contingent
(4) Absolute

WW%FG@HE!@ ......... 8, “afh s e fasia #er ¥
(1) s Q) ey
(3) snfarm (4) Frede

another.
(1) Marketing

(3) Segmentation

1S a process of identifying the areas of market that are different from one

(2) Promotion
(4) Targeting
.......... w%waﬁaﬁwmaﬁ@m%ﬁr@-@%

= 21

(1) wrBieT (2) s

(3) fawr=H (4) TR

It refers to the process of sale of equity shares to the private sector and to the public.
(1) Disinvestment (2) Globalization

(3) Economies of scale (4) None of the above

Te ol & SR ST bl 3ioad) ot it el o uftkanr 91 ©efifa s 2
(1) ferferaar (2) BB

(3) Y= @ ofeleaEe (4) STAE | | B A

P.T.
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management ?

64. Hiring of employees is done by which level of
(1) Top level
(2) Middle level
(3) Lower level
(4) All of the above
FHREA B ot e & e w@X & @ SR © 7
(1) MY wWx ar
(2) 75 WX &Ry
3) FEa &R =
(4) SIIH | awy

65. Coordination is needed at :
(1) Lower level of management
(2) Middle level of management
(3) Top level of management
(4) All of the above
g & AELIHAT Bl & -
(1) 95& & e &) @)
(2) 9§ % 7 WX W
(3) g&ie & MY &R W

(4) U6 T W

Making timetable in an educational institute is an example of
(2) Coordination

66.

(1) Organising
(3) Controlling (4) Nota

fepel fareror Hery # HHA-GIRON SHMET ... HT FARIT B |
(1) erEeH (2) T
(3) feyisror (4) et

(;-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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functions." Identif
' 1y the functj
function of management stated in the above lines.

(1) Planning
(2) Controlling

(3) Organising

e . (4) Staffing

ge YT 1

wﬁﬁdﬁﬁﬁﬁaﬁm%mmmﬁmwaﬂwwm%w
T T Sejer & @@t = qeard |

(1) FSTT (
REEEL
(3) S @ .
68, oeeeeiene - _
are the anticipated environments in which plans are expected to operate.

(1) Planning premises
(2) Forecasting

(3) Objectives

(4) None of these

WW%WW@%W%ﬁW%\

.........

(3) Sgd
(4) =8 q B Sl

he process of dividing work into

69, .....oeeee is t
the activities which are similar in nature.
(2) Departmentalization

manageable activities and then grouping

(1) Coordination
4) Delegation of authority

?ﬁﬁaﬁfﬁﬁfs:fnﬁrﬁfﬁaﬁ

(3) Organisation structure

maawmﬁﬁmﬁﬁamm

Wﬁaﬁm%ﬁqﬁﬁm%l
(1) T | (2) FaartEneT
(3) g (4)qﬁa€5ﬂzﬁrqﬁﬁf€ﬁ |
P.T.O.

PG-EE-2022/(M. Com. Hons)(Five yr.)-(SET-X)/(©)
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: ization structure ?
70.  Which of the following gives shape to the organization :

th
(1) Extent of delegation (2) Employee streng

(3) Span of management (4) None of the above

ﬁ%ﬁﬁaﬁww@mﬂﬁmaﬁrwﬁ%?
(1) oM o ey (2) wHaTd RH
(3) SEUT A} amafy (4) ST & & B AL

71. Which type of organizational structures is the most suitable for those business
enterprises where a large variety of products are manufactured ?

(1) Functional (2) Divisional
(3) Both (1) and (2) (4) Nota

mwmm@‘ﬁ%mﬁmmaﬁwmwﬁw%
TN SIS W O A e a7 fyfor R s & 2

(1) i (2) s
G) (1) &7 (2) 3= (4) e
72, ... is the obligation of a subordinate to properly perform the assigned duty.
(1) Authority (2) Responsibility
(3) Accountability (4) Nota
ﬁmmﬁm%m%mwmmﬁﬁmmm ........ B
(1) sferepor (2) STEITE
(3) STarsRE | (4) S
73. ... implies being answerable for the final outcome.
(1) Authority (2) Responsibility
(3) Accountability (4) Nota
........... B A sffeH aRemT & R sareRe g 2
(1) sferpzor (2) ST
(3) STaTERE (4) e

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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18, An organizatigy, is

management levelg ............ thn deci 7
S. €cCisi i
S C1s10n-making authority is retained by higher
(3) Both (1) ang (2) Decentral
. ) entralised
uF TS (4) N
...... % ‘, ota
ST T vty
(1) T
3) (1) T (2) 2y ) TS

(4) Aer
75. "It refers to the rj

within the scope og °fan individ

_ ual to i i i
Fhis position " command his subordinate and to take action

Which element ion i
of delegation is being referred to the above statement ?
(1) Accountability

(3) Authority (2) Responsibility

(4) Nota

aHITHss & 59 o o SURIh &oe § el fRar o @l 2
(1) STarEcer 2) R
(3) STTEreRToT (4) S

76. Which of the following is #rue in case of e-banking ?
(1) Lowers the transaction cost
(2) Adds value to the banking relationship
(3) Empowers customers
(4) All of the above
%—aﬁéﬂ%mﬁﬁﬁ%@ﬁﬁ@ﬁﬂ-mw%?
(1) 33 e B
() S gedt § e ST e
(3) Tret @1 A T g

(4) I G P.T.O.

‘ . i} X)/(C
PG-EE-2022/(M. Com. Hons)(Five Y1) (SET-X)/(C)
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. Directing is initiateq at ... level of management.
(1) Lower (2) Middle
(3) Top (4) All of these
SEL R W X e g fapar o 2l
(D) e () 7oA
(3) i (4) ¥ |
78.  Which of the following is not the element of directing ?
(1) Delegation (2) Leadership
(3) Motivation (4) Communication

ﬁq%%aﬁﬁaﬁqﬁ%smaﬂaaaﬁ%?

N o (2) Fga
3) arcom @ e

79. Which of the following principles are applicable to Fire Insurance ?

(1) Proximate cause (2) Mitigation

(3) Contribution (4) All of the above
Frfefad & & A8 R of G a2 7
(1) gHi9ey R (2)

(3) drre (4) STIH |

80. ............. is an inner state that energises, activates or move and directs behaviol

towards goals.

(1) Motivation (2) Motives

(3) Motivators (4) All of the above
........... b i Refer & o @edl & ofy =@aer @ frmsher, afeg

AT &edt & 3R ARfea &l 2|

(1) em (2) wT

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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g Trial balance show 23

S arj .
pr00 fof accuracy lthmetlcal accu :
. racy of ledger accounts, but itisnot a .....

(1) Conclusive

(3) Submissive (2) Exclusive

AT AT Joye T oy o (4) Inclusive
.......... T T R HDMOTHT e @y zeorfen B, AfH T8 aLmar &
(1) Frotiaes
(3) R (2) fafarse
(4) qHEM
g2. Balance of bad debts is showp -

(1) in debit column of trial bajance

(2) in credit column of tria] balance

(3) as an adjustment at end

(4) by adjusting it with debtors

AL RO HT A FLAAT AR R
(1) g A & 3 Fe A

(2) g AW F HT HH A

(3) o7 ¥ EHEeH & €9 H

(4) TR T F A e T

83. Credit purchases from Rajiv ¥ 9,000 was posted to the debit of Gaurav as £ 10,000. In
this case, suspense account will be debited with :

Q)R 10,000

(4) None of the above

(1) 9,000
(3) % 19,000

wm|wwﬁ,ﬂﬁ“@ﬁﬁgﬁamm:

(2) % 10,000

(1) T 9,000
(4) Sl & F B T

(3) % 19,000

Oi?l'{a%%ﬁﬁﬁ?m,om%mﬁ@ﬁﬁa‘cﬁm

P.T.O.

PG'EE-ZOZZ/(M. Com. Hons)(Five Yr.)—(SET-X)/(C)
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: anacity Of
84. Capital expenditure ............. the carning capacity

expenses of a business.
(1) Reduces. increascs
(2) Increases, reduces

(3) Maintain, reduces

(4) Reduces, maintain e & !
q o AL P

(2) deIar ®, Herwm 8
(3) S9Y &l 8, " ©

(4) geTer B, SMQ @
answer by using Codes given

85. Consider the following statements and select correct

below :
(i) Balance sheet contains only the bala

(i) Assets side of balance sheet is always equal to capital side.
s are not shown in the balance sheet as it is a personal expense of the

nces of personal and real accounts.

(iii) Drawing
owner.

Codes :
(1) Only (i) is correct (2) Only (ii) and (iii) is correct

(3) All are correct (4) All are incorrect

ﬁmﬁﬁaﬁaﬁmwﬁawaﬁam?ﬁ%rﬁqngzwaqaﬁaﬂ%aﬁw

.

g
(i)éﬁasﬁzﬁmaﬂ%ﬁ*ﬁaﬁ?mﬁéﬁ@ﬁaﬁﬁmeﬁfﬁ%:

(ii)%ﬂ?ﬁﬂ@%ﬁ?ﬂ%%%m%%
(iii)%ﬁasﬁﬁmﬁ@m%@m%%%wﬁwm

gd 2|

Z -

(1) Faa (i) @& & (2) dad (i) ST (iii) @ B
(3) @f @@ & (4) & T E

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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[nsurance claim rece
ceived fc « .
as ...... d for the damage of machinery due to fire is considered

(1) Revenue Receipt

(2) Casual Receipt

(3) Deferred Revenue Receipt
(4) None of these

m:mqsﬁﬁﬁgwinmﬁﬁ ........... arn
GIGIN-S!

(1) T o

(2) IS wi

(3) FeaIfd TS A

(4) 8 7 Hg T

Entries which need to be accounted for in the books of accounts at the time of
preparing final accounts are called ............. )

(1) Opening entries (2) Closing entries

(3) Adjustment entries (4) Final account entry

HAGTF B, TT evevrne el Al 21

(1) st gfaftedr (2) FETI Safer
(3) BEEEE gafedr (4) 3ifqm @ Sfarte
Value of physical inventory on 15-04-2020 was T 30,000. Sales amounting 10

Z 1,00,000 and purchases worth ¥ 50,000 were held between 31-03-2020 to 15-4-2020.
Goods are sold at 20% profit on sales. Values of Inventory as on 31-03-2020 is :

15-04-2020 F1 e F&g-ga & g4 ¥ 30,000 @11 31-03-2020 F 15-4-2020

%éﬁ(?l,O0,000ﬁ%ﬁaﬁ??i0,000ﬁ@fﬁaﬁﬂélwﬁ%W
20% & TT F=1 S g1 31-03-2020 % ae-gd1 W A §

(1) ¥3,50,000 (2) ¥2,70,000
(3) ¥3.00,000 (4) ¥3.30,000

P.T.O.
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ases 1,200 units at 3
‘ ¢ 4ot it "lll\‘h.l‘\t?‘ I-. d o we { 5 er uh
89, ()Pt‘nlllg '"“"““P‘ 1,000 units at < - :m” (ind out the profit under Weighteq ave,
\ N per ,

Cr.
Sales at the end 2000 units at 8 R

price method - ; Y. ¥ 5 ufey gy
. ‘ gire Bl A d; 15 ,;Im Jh? B &
Mfye $9d 1000 gveyw T \IIQ S oaig N8 vl e &y RASES F-;»)N‘
[.30() zﬁc {‘7(]\,‘\” !\‘-‘ )‘””() ‘.\'\"‘]'-:‘"ﬂ h \.\["\' "”l,' : ﬂ?\
WIRT Ma qey gy & g eni 4l
AN 3}9\1 1&\“{ lh‘«'\] G oded ol (4) ? 7'()00

| 000
() 3 6.000 (\) ¥ 6.900 (1Y) < 6.90(

90' l’“""“rshil\ dt\‘d i‘\‘ nl‘\“) C““Cd .......... . | [‘ l
icles of Associatior

) Articles of Assocla
K I ) }‘rk\\‘pc\\lus (H) /\' “L I

2 I . . ticles of Partnership
(3) Principles of Partnership (4) Articles

N
TR dw oy W el orar B

(1) TRgey (2) anfdene 3Tk vaIfqueE
) TR P Ry 4) @Ry $ sfaftiay

81. While browsing through the website of RBI, Hari came across t'he Specimen of
financial instrumen; that was developed in medieval India tor_t{sc In trade and creg;
transaction. It wasg deemed to be an unconditional order in writing made_ by a person |
directing another to Pay a certain sum of money to a person named in the order,
Identify the financial instrument being described in the above lines.

(1) Draft (2) Hundi (3) Cheque (4) Chitti

(1) gre (2) & (3) =5 (4) ferehy

92. These are forces in the firm's immediate environment that affect the performance of the
firm :
(1) Macro environment (2) Micro environment
(3) Technological environment (4) Natura] environment
aW%a@mWﬁw‘%a‘TW%mﬁﬁqﬁqﬁam%:
(1) TS arareor (2) 981 aramgeoy

(3) de-Te! arargor (4) Arepfeyep AT o7

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(C)
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0
3 Activity which are -
9 ) Awi meant for assisting trade are known as :
uxiliaries to tr _
_ trade (2) Aids to trade
(3) Services
(4) All of the above
SR B T B R @ o are dRafer B % wa # S
ST 3 |
(1) AR & fHe T () = & fre T
(3) | (4) SUATH gaft
94, i is the process of analyZing the environment for the : dentification Of factors
which have impact on or have implication for the business.
(1) Forecasting (2) Assessment (3) Scanning (4) Nota
e @ Al 2

aﬂmﬁaﬁuﬁﬁ%%ﬂwﬁaﬂaﬁrm@w
ﬁ%aTeie?lﬁT%l
(3) BT (4) AT

...........

(1) gargaT (2) ST

95. The responsibility of business to chani

ensure good returns on investment iS .....o-e+ :
) Discretionary responsibility

elize its funds into meaningful activities so as t0

(1) Ethical responsibility
3) Economic responsibility 4) Legal responsibility
ﬁ%srwmmﬁgﬁfﬁﬁmﬁ%mmmﬁmﬁﬁfaﬁﬁ

aﬂﬂ%%mmmaﬁﬁﬁﬂﬂ .......... £

96. ..oeoee s concerned with the withdrawal of state from an industry or sector, partially

(1) Iiberalisation (2) Modernisation

(3) Privatisation 4) Globalisation
m@a%@a@ﬂmaﬁﬁr@aﬁaﬂwmtﬁm@mé

.........

2|
(1) &R (2) eﬂg&m’ﬁﬁm
(3) FrstienTT (4) SgERTT

BT G
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terests of Q
ct the n V]
97. The autonomous corporations that were formed to prote raerv)
were known ag

..............

(2) Merchant corporations

(1) Trading CoOmmunitjes
ove

(4) None of the ab

(3) Jagat Seths
W%%ﬁﬁm%mwquﬁ ......... %@ﬁ}w
STIAT &7 |

(I)WW (2) e

(3) T ¥z (4) I B § BE TR

98.  No capita] investment is required in case of ............ :

(1) Profession (2) Business

3) Employment (4) All of the above

.......... B A ¥ B G e o srasmdn 6 2

(1) Qsm (2) &MNR
(3) TR | (4) 396 &l
99. Sole proprietors have ..... . liability.
(1) Limited (2) Unlimited
(3) Joint and limited (4) Joint and unlimited
Thd @i &r ....... .. 3T Bt B
(1) Hifee (2) srifa
(3) 7% R it (4) €5 AR Tty

100. What is the full form of VPN ?

(1) Virtual Printing Network (2) Virtual Private Name

(3) Virtual Private Network (4) None of the above

drieT 1 qof wq 491 8 7
(1) agoret BifeT Feas (2) T 9T A
(3) T A e (4) S0 F A P 7y
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1. Trial balance shows arithmetical accuracy of ledger accounts, but itis nota ............

proof of accuracy.
(2) Exclusive

(1) Conclusive
(4) Inclusive

(3) Submissive

e 3G Aoie @Al &) SR addbdr B agfar B, AfhT A FEEHAT F
.......... gaTor el 8 |

(1) et
CRERE]

2. Balance of bad debts is shown :

(2) fafarse
(4) gurash

(1) in debit column of trial balance

(2) in credit column of trial balance

(3) as an adjustment at end

(4) by adjusting it with debtors

JTgire N &1 QY &LqAT AT B

(1) gr&a 9| & Sfae HieH d

(2) TEF IAH H Hisc Hidd F

(3) 3fq & gHENE & &9 A

(4) 39 IR F E FHENSTT Hh

Credit purchases from Rajiv ¥ 9,000 was posted to the debit of Gaurav as ¥ 10,000. In

this case, suspense account will be debited with :
(2) 10,000

(1) 9,000
(4) None of the above

(3) ¥ 19,000
e | #fee @ag 9,000 g & 3fee & 710,000 w7 § @ § Gor@n
T AT 39 AEA H, 999 g @ 2fee R S

(2) T 10,000

(1) 9,000
(4) I9U<H d |/ g T8

(3) 19,000
P.T. O.
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4. Capital expenditure ...
eXpenses of a business.

(1) Reduces, increases
(2) Increases, reduces
(3) Maintain, reduces

(4) Reduces, maintain

(3) 9T Ear B, gemr
(4) 9T B, S9T var
5. Consider the following statements and select correct answer by using Codes given

below :
(1) Balance sheet contains only the balances of personal and real accounts.
(i) Assets side of balance sheet js always equal to capital side.

(iii) Drawings are not shown in the balance sheet as it is a personal expense of the

owner.
Codes :

(1) Only (i) is correct (2) Only (ii) and (iii) is correct

(3) All are correct (4) All are incorrect
;q%@ammwﬁwﬁamﬁmwi?mwm e I
(i) éﬁasﬁzﬁr%maﬁmﬁaﬁ?wﬁm@ﬁrﬁmm@?ﬁ%l
(ii)éﬁasﬁzmq@zmsﬁw%m%wm%l

(iii)%é‘as%ffaﬂgwﬁ%@WW%ﬁww%ﬁmawWaﬁwm

T 2|

%< -

(1) ®aw (i) 9&l & (2) Faet (i) R (iii) T 2
(3) |l weEr & 4) |t T

»(G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)



6. Insurance claim received for the damage of machinery due to fire is considered
AS i .

(1) Revenue Receipt

(2) Casual Receipt

(3) Deferred Revenue Receipt
(4) None of these

ST @ HIROT ANFU B Y IHAW & o ored e ard dwro. AT
SIS

(1) TS wie

(2) TS "I

(3) SR oTe T
(4) T | g TE

7. Entries which need to be accounted for in the books of accounts at the time of
preparing final accounts are called ............. .

(1) Opening entries (2) Closing entries

(3) Adjustment entries (4) Final account entry

S T SO FXS Y B SRRed @ den gt § enfre Rear ot
AT B, IB .euennnn. HEl ST 8 |

(1) v afafedr (2) g fafedr

(3) FEESE gRaRedr (4) Sifem @ wfafte

8. Value of physical inventory on 15-04-2020 was < 30,000. Sales amounting to
¥ 1,00,000 and purghases worth ¥ 50,000 were held between 31-03-2020 to 15-4-2020.
Goods are sold at 20% profit on sales. Values of Inventory as on 31-03-2020 is :

15-04-2020 @i Afees aeg-ge 1 e T 30,000 @71 31-03-2020 § 15-4-2020
% drar T 1,00,000 # faer ok T 50,000 1 @G B T AR W feEhl W
20% T 9T = S 2 1 31-03-2020 T a& -Gl B A B

(1) Z3,50,000 (2) ¥ 2,70,000
(3) % 3,00,000 (4) %3,30,000

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D) P.T.O.
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9. Opening Inventory 1,000 units at ¥ 4 per unit; Purchases 1,200 units at ¥ 5 per unit;
Sales at the end 2,000 units at T § per unit, find out the profit under weighted average

price method :

STTT S0 1,000 afrew 3 4 e gfve 1 a0 & 2 5 AR AFE F a3
1200 ge gfiwar ®; 2,000 gwat & aiq & T 8 fy A @ a7 A R
RS SNHT T w=hy & deq @ 0 gar S

(1) ¥6,000 (2) 36,909

10.  Partnership deed is also called ... .

(I) Prospectus (2) Articles of Association
(3) Principles of Partnership (4) Articles of Partnership
IR € B .. A el ST B
(1) SrFed (2) offéper offs TaifaueT
(3) "=l & fid (4) ARERT & Sfdfiam
11. (}Ilontrolling means ensuring that activities in an organization are performed as per
the ............ .
(1) Plans (2) Goals
(3) Resources (4) Nota
e & orf @' gfe & ¥ B Rl dvew § ket L &
STIER & ST B
(1) gromg (2) weg
(3) gares (4) e

12, What should be the 'focus point' for a Manager while controlling, as controlling at each
and every step is not possible ?
(2) Key result area

(4) Nota

(1) Special area

(3) Normal area

X T 3T 99g 78 R 7
(1) fa9y &5 (2) =9 9RO 8w
(3) gH aF (4) A
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13. An effort to control everything may end up in controlling nothing is related to :
(1) Critical point control (2) Management by exception
(3) Management by information (4) Nota
A9 gp FEET $0 & 9 B o FEREa e # a8 A B, fEaa
qefd B -
(1) Hew=yel f&g FrEso (2) SAudrE &R FEIH
(3) FEAT ERT "eYA (4) =er

14. Name the function of management which helps in the formulation of future plans, in

the light of the problems that were identified and thus, helps in better planning in the
future period.

(1) Planning (2) Organising (3) Directing (4) Controlling

TEYH & 39 HY P A FARE S YEEE TS GHErS & As H Alqs @

gQerelt 3 Eor § geg war @ R 39 R, s # orEfy # F'a}
AT g9 & HEg &l © |

(1) Frsr (2) A (3) fEs= (4) =T

15. Identify an important principle of management control in which only significant
deviations which go beyond the permissible limit should be brought to the notice of

management.
(1) Management by control (2) Control by exception
(3) Critical point control (4) Both (1) and (2)
gege MEA & T i @l geas w ’SEH dad qewyel Qe
S STIHE T/ W T €, € F&YT @ S H R ST =y |
O RERERIF-RURECE| (2) sTuarE ERT IO
(3) wEwaget fag, frerT @) (1) T (2) 3
16. Which of the following money market instrument is also known as zero coupon
bonds ?
(1) Call money (2) Treasury bill
(3) Commercial paper (4) Commercial bilnl
Wﬁaﬁ-wwwwmﬁwm%mﬁﬁwm

(1) i@ =1 (2) 3oTd fae (3) Fmfdtod QU (4) HmiEa fad
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D) P.T.O.



18.

19.

20.

Gfﬁmmemaipaper &4

......... TH R a i Rt @ qﬂqaam mfw % m.

(1) #t o ) ford o PR

() FmRiEE I ) Rt B "
Which of the following can be a Depository Participant (DP) ? vty "

(1) Banks ~ (2) Broker ol .
(3) Financial Services Company - (4) All of the above
Frafifeas & & @ o5 Ry ol OF) & asm s ?

(1) S (2) |

(3) o< |ar W (4) STU=H G

It has been made compulsory to settle all trades within how many days of thé'tﬁa
on a rolling settlement basis ? |
(1) One (2) Two @)} Thiee (4) Four ‘”_
Wﬁﬁ@%mﬁﬁﬁ%ﬂﬂmwﬂa@faﬁﬁmm%)
faerT sifver @ famr = @ 2 | &

(1) @ @ () @e
.......... is an institution or organization, which holds secuntles in electr

which trading is done.

(1) Stock exchange (2) SEBI

(3) Depository (4) Nota s

...... oo T AW A A B, S wiowfedt @ ,ﬁ;;an

fora# =R o S & | L & '+e

() ©f%F waas | (2)ﬁ'$ﬁ —

(3) FErE , gs;.-%l
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21. Management principles are very ........... whereas pure science principles arc rigid

(1) Flexible (2) Contingent

(3) Dependent (4) Absolute
useE & Ryseid sgd R, ety g fsm fgia w2
(1) S=em (2) arffe=a
(3) enf¥g (4) Forader
22. ... is a process of identifying the arcas of market that are different from one
another.
(1) Marketing (2) Promotion
(3) Segmentation (4) Targeting
.......... IR ® 39 AT D GeIE & P TH AHAT B A TH-FE H
= 21
(1) AR (2) s
(3) fersreT (4) SeRIOT

23. It refers to the process of sale of equity shares to the private sector and to the public.

(1) Disinvestment

(2) Globalization

(3) Economies of scale

(4) None of the above

q Fasil @ ol SEr @ gfad R @ el o AT Y HeRT B 3
(1) fafqasr

(2) qeaTERTT

(3) Yu & LA

(4) I9qh ® @ dg ALl
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24. Hiring of employees is done by which level of management ?

(1) Top level ~(2) Middle level
(3) Lower level (4) All of the above
FHEREA A1 el e @ For v @ ) o 7
(1) & wx arn (2) H&7 &Y &R
(3) et w=X & (4) ST |ft &

25. Coordination is meeded at -
(1) Lower level of management (2) Middle level of management
(3) Top level of management (4) All of the above
AT ) sTasaehar B © -
(D) 5999 & e & w (2) 9§99 & Heg @YX 9X
(3) 78T & I w7 gx (4) SR g uX

26. Making timetable in an educational institute is an example of ........... .
(1) Organising (2) Coordination
(3) Controlling (4) Nota
el fRrerer e & awa-eRoN SwEr L BT IEBLT B |
(1) = (2) 99T
(3) =T (4) srer

27. "It is that function of management which is considered as the base of all other
functions." Identify the function of management stated in the above lines.

(1) Planning (2) Controlling
(3) Organising ' (4) Staffing

“%WWW%W%WWHQﬁWWWWWW%V”
SO GRRdl § 9O IQ gdee & et o weee o |

(1) Tt (2) Fgsror
(3) A™ESH (4) =it
PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D).



28. ... are the anticipated environments in which plans are expected to operate.
(1) Planning premises
(2) Forecasting
(3) Objectives
(4) None of these
......... NN TR & S Aorratt & d=nfe 89 @ IeiE B
(1) T aiER
(2) gargeT
(3) Iaed
(4) 379 @ g T
29. ... is the process of dividing work into manageable activities and then grouping
the activities which are similar in nature.
(1) Coordination (2) Departmentalization

(3) Organisation structure (4) Delegation of authority

......... B geEE Tt § e s@ o) R o9 aRffEt &
THEIDT Hid I UhAT & S gl & 9= & |

(1) g9==ag (2) IR INIPET
(3) HTeA G-I : (4) uifErezer @1 gfafie

30. Which of the following gives shape to the organization structure ?

(1) Extent of delegation (2) Employee strength

(3) Span of management (4) None of the above
Frfeiaa & @ HF-A1 W G3E=T H oHR a7 & 7

(1) wfefferdes & (2) HHETd o

(3) geeT 9 sty (4) IUAH H q HIE &

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D) P.T.O.
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31.

32.

33.

34.

D

he specimen of a

. : t
While browsing through the website of RBI, .Harl can.le across e and cred
financial instrument that was developed in medieval India for use In

transaction. It was deemed to be an unconditional order in writing made. by a\pcrsov
directing another to pay a certain sum of money to a person named in the order.
Identify the financial instrument being described in the above lines.
(1) Draft (2) Hundi (3) Cheque (4) Chitti

SRS 1 J9A3T F ATy § SO HG g, eR B b fAE HEH
B T e, B wemepei| wra ¥ & ok #fee dWed ¥ SuA & fag
Fepfee fopar war ar) 58 Redt afts g emRer § Aifha e @ uh FfREd
T BN GIA 3T HT Fder 3 g foRaq § BT od TR AET ST o7
SUUh R 7 affa Rl drew @ geee BY

(1) ST ) g 3) % CORER

These are forces in the firm's immediate environment that affect the performance of the

firm :
(1) Macro environment (2) Micro environment

(3) Technological environment (4) Natural environment
A BH & Tbld araEReT § a9 ¥ o) o § gesty @ weieg a1 § o
(2) eq ardrero

(3) Tt ararEor (4) Hehicres gramazer

Activity which are meant for assisting trade are known as
(2) Aids to trade

(1) Auxiliaries to trade
(4) All of the above

(3) Services
R B el & foq @ = gl iy @y ... & @I T S
ST B

(1) AR % T geEs 2) @ANR & T FarET

(3) QT © (4) IURP gy

.............. is the process of analyzing the environment for the identification of factors
which have impact on or have implication for the business.

(1) Forecasting  (2) Assessment  (3) Scanning (4) Nota

........... awmuﬂaﬁqsuw%%q%%r%m%&vrﬁﬁ%%
FSTTepT F9amr U g gear ® ar Mt &ar 3

(1) qarga= (2) 3Teha (3) BT (4) reT

(;-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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35. The responsibility of business to channelize its funds into meaningful activitics so as to
ensure good returns on investment is .......... :

(1) Ethical responsibility (2) Discrctionary responsibility
(3) Economic responsibility (4) Legal responsibility
st ox oremr Red ghftea & & forg o @ @ s wfafafet o
SRUIECR RN 10 MG IS 2 1 £ RO e |
(1) S R (2) s e
(3) eni¥e FraTd (4) FrEh Ferd
36. ........... is concerned with the withdrawal of state from an industry or sector, partially
or fully
(1) Liberalisation (2) Modernisation
(3) Privatisation (4) Globalisation
......... H Hey Rl IERT A1 &= | ST &H ARSI O ®A G o 4
e |
(1) ST (2) SATEFRIEBIIT
CORESIE (4) AeeHII

37. The autonomous corporations that were formed to protect the interests of the traders
were known as ............... .

(1) Trading communities (2) Merchant corporations
(3) Jagat Seths (4) None of the above
ARA & Rl A T & R R @ R @ 3wy F o
ST &7 |
(1) =maies 99 (2) AP FH
(3) ST Fo (4) STF ¥ § HE =&
38. No capital investment is required in case of ............ ;
(1) Profession (2) Business (3) Employment  (4) All of the above
.......... & AT 7 Hlg Yol ae @ oTrasgear T8 B
(1) 9sm (2) &AM (3) AT (4) SUd=h gl

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D) P.T, O.
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39. Sole proprictors have ... liability.
(1) Limited (2) Unlimited
(3) Joint and limited (4) Joint and unlimited
U @it &y L agar axft B
(1) it (2) srehfae
) HgH o difg (4) dgeh A eyEfid
40. What is the full form of VPN ?
(1) Virtual Printing Network (2) Virtual Private Name
(3) Virtual Private Network (4) None of the above
N 1 gof =7y ¥ 7 |
(1) ager Rife Jeqes (2) ager urgae A
3) TIHT wrzAT Jeqer (4) SRE & F Pig T8
41. Which of the following represent capital receipt ?
(1) Subscription from Members (2) Donation
(3) Entrance Fees (4) All of the above
e & & A9 $f wifts o1 SRR @ S 2
(1) 5=t q sigeM (2) T
(3) 5a9r (4) STH Gl
42. Liability of a shareholder is limited to ... . of the shares allotted to him,
(1) Paid up Value (2) Called up Value
(3) Face Value (4) Reserve Price
U HATURE H AT I ofefed sigh & .. I HifT T 1
(1) T g3 OEURCE
(3) sifha gw (4) STRfErT g

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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43. The shares on which there is no any pre-fixed rate of dividend is decided, but the rate
of dividend is fluctuating every year according to the availability of profits, such sharcs
are called :

(1) Equity share
(3) Non-convertible preference share

B o ax amwisr & 1 gef-FreifRa v € &t B, @ o 2R ¥, Afe
TIHIST B T H A Bl IUARITT F SN 87 Al IAR-TEE BT B, 0f
ARG BT

(1) et R (2) -F=N ghadr =7

3) IR-uRadNg ad=ar o7 (4) e giFar AT

44. Maximum limit of Premium on share is :

(2) Non-cumulative preference share

(4) Non-guaranteed preference share

(1) 5% (2) 10%
(3) No limit (4) 100%
AT X N & srfesas S ©

(1) 5% (2) 10%
(3) HE 1 T8 (4) 100%

45. Which of the following items is not a part of subscribed capital ?

(1) Equity Shares (2) Preference Shares

(3) Forfeited Shares (4) Bonus Shares
Frfafea 7 @ #9-d agy e o & 9/ 78 S 2
(1) e 9% (2) adFar SR

(3) 5= X (4) 999 X

A Ltd. Purchased the assets from B Ltd. for ¥ 5,40,000. A Ltd. issued 10% debentures
of ¥ 100 each at 20% premium against the payment. The number of debentures

received by B Ltd. will be :

A fafres 3 B fiftee & duf@l % 540,000 3 s=q § @ddi| A ffree 3
T & st § 20% HEET 9% T 100 5@F 3§ 10% o9 o 55T B

s amr ura womy & g ent o
(1) 4,500 (2) 5,400 (3) 45,000 (4) 6,000

46.

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D) P.T.O.
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I
47. Interest on debentures issued as a collateral security is paid on :
(1) Nominal value of debentures
(2) No interest is paid
(3) Face value of debentures

(4) Paid up value of debentures

CURITD SR F w9 F o Fhw g fedee (o) 0 E #
%QTGHET%:

(I)fﬁmaﬂﬂmw
(2) PR =1 T& Ry sy 2
() B =1 sift e
(4) B &7 Ys-a19 7wy

48.  As per SEBI guidelines an amount equal to ............ of the debenture issue must be
transferred to Debenture Redemption Reserve before redemption begins.
éﬁ%ﬁsﬂﬁ%&ﬁ%aﬂqﬁ,%ﬁwgﬂ% .......... % e R B HEe
g@éﬁ@%@%@w&mﬁa&ﬁ@:ﬁmﬁaﬁmwm%m
(1) 25% 2) 80%

(3) 50% (4) 100%

49. Which of the following is not required to be prepared under the Companies Act ?
(1) Statement of Profit and Loss
(2) Balance Sheet
(3) Report of Director's and Auditor's
(4) Funds Flow Statement

mmﬁuq%aﬁﬁwmﬁ@ﬁﬂ-wwmaﬁmsmﬁ
g7

(1) @9 3 & &l feewor

(2) s@g dfie

(3) fesrer AR A gders 1 R

(4) B T WeHe

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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50. 'Accumulated Dividend Arrears' on preference shares is shown in the Company's

Balance Sheet as ‘

(1) Current Liability (2) Contingent Liability

(3) Commitments (4) Short-term Provision

T Qo R AT i g wue @ 9| e # 39 g R
TR

(1) ad=m= Fan (2) SRS JTCT

(3) widsaag (4) FATehIfeTeh TEe=

51. Hina is a partner in a firm. She withdrew ¥ 6,000 in the beginning of each quarter
during the year ended 3 1st March, 2021. Interest on her drawings @ 10% p.a. will be :

R o ot # WK B SEN 31 A, 2021 @A a¥ B 3RH s e B geed J
36,000 F X AN D ST W &S @ 10% S ad e
(1) T900 (2) T 1,200

(3) T 1,500 [ (4) % 600

52. A, B, C & D are equal partners in a firm. They changed the profit-sharing ratio as

2 :2:1: 1. Calculate sacrifice or gain ratio.

% & A, B, C @R D S & TEER &1 I - ogua H2:2:1: 13
®q & soo fEn ©ET 9 e STgaT @ T S

(1) 1/24 (2) 1/12

(3) 1/10 4) 1/6

53. Weighted average method of calculating goodwill is used when :

(1) Profits are not equal (2) Profits show a trend

(3) Profits are fluctuating (4) None of the above

ey & o § Aid ofr|d fafr @ wAnT feEr S ®, S o
(2) @9 T wgfi e €

(1) 99 |9+ el &
(4) IR 7 q HF T

(3) @9 ¥ IAR-Ted & @ ©

'G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D) P.T.O.
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: ' for
54.  A. B arc partners in the ratio of 3 - 2, they admitied © It(?o :
. > 1 ’
he acquires equally from A and B, Calculate the new 18 I 1/4 B 3 B
A.B3:2%N§Waﬁ‘ﬁ®m%3$ﬁcﬁgﬂzﬂ3@wﬁ " $
1 S a8 A o B @ wury wy & s e !
(1) 9:6:5 (2)3:3:2

3)3:2:4 4) 19:11:10
oodwill in cash, the amoyy,

95. When the new partner does not bring his sharc of & I
debited to :
(I) Cash A/c
(3) Current A/c of the new partner
T T TR @R B ord foeld B Apa A A€ @ B A A 3,
ferar srar @ -
(1) = @rr & (2) Sy @ #

(3) T HRER F =@y @rar § (4) QA srfErt & gof @ H

A, B and C are partners in the ratio of 3 : 4 : 2. B wants to retire fr(?m the firm. Ty,
profit on revaluation on that date was ¥ 36,000. New ratio of A and C is 5 : 3. Profi; on

revaluation will be distributed as :
A/BSIRC3:4:2% omgu § wer &1 B v & Qaifiga &1 = 3
39 fafy @l g aX @ ¥ 36,000 A1 A SR C & T3 I 5:33
AT IR A9 39 SRR fadia frar s

(1) A%16,000; B 12,000; CX 8,000 (2) AT 12,000;B T 16,000; C 2 8,000

(2) Premium A/c

(4) Capital A/cs of the old partners

56.

(3) AX22,500; CX 13,500 (4) AR 22,625;C3 12,375
7. On the death of a partner, the amount due to him will be credited to -
(I) All Partners' Capital Accounts (2) Remaining Partners' Ca pital Accouns

(3) His Executor's Account (4) Governmentsg' Revenue Account
@Wqﬁww)aﬁaﬂﬂﬁTmﬁW@ﬁ:

() e & W@ A ) w5y
(3) B s F @ (4)Wfﬁ%m“@rmﬁ

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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58. At the time of dissolution of partnership firm, fictitious assets arc transferred to

59.

60.

61.

(I) Capital Accounts of Partners (2) Realisation Account
(4) Partners' Loan Accounts

(3) Cash Account
T Bt B Rywea & ga, sl dufy @ R B o

(1) §EERY & §of @t & (2) ageh @ A
(3) TH= @ (4) AEET B FHor @t &

An unrecorded asset was valued at 3 1,00,000. On firm's dissolution, it was sold for

52%. Realisation account will be credited with :

(1) ¥52,000 (2) ¥ 48,000
(3) ¥ 1.00,000 (4) None of the above

UF e €U & g7 % 1,00,000 911 B F e 9 39 52% F =0
T IS @ H 597 e st
(1) 52,0003 9Ter

(3) ¥ 1,00,000 & 4rey

If General Donation of huge amount is received by a school, that donation is treated

(2) T 48,000 &% €T
(4) IUAH H | BIs AL

as :
(1) Revenue Receipt (Income) (2) Capital Receipt (Liability)

(3) Assets (4) Earned Income

gfe fpel faemee & 9= a9 & St Ay 91 8idr B, ar 39 &9 & "0
ST

(1) Tore iy (a719) (2) Gotrrer sifer (=)

(3) Gufr (4) et o

For whom the Analysis of Financial Statements is not significant ?
(1) Investor (2) Government

(3) Ambassador of India
frad g faxiia faarelt @ fsawor #ewEyqel 787 8 ?
(1) frasrn (2) TR
(3) AT & TG (4) HUAT & HAAY
P.T. O.

(4) Company's Employee

-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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ooare

P2 The moy “OMMONY used fols for Financial Analysts d;iyc Statcment
(1) Comparatiye Statements (2) Commomn >
(3) m‘&‘ﬂlmtingRam,S (4) All of the above .
ﬁ?ﬁamw%fmm\mm\mmmﬁmw:; |
(1) RSEIRECS Rrgoy (2) @ FATRIT T
) T s (4) T A

®3. Revenue from Operations less cost of Revenue from Operations is called :
(1) Net profit (2) Operating profit
(3) Gross profit (4) Total profit
Wawmmawﬁmaﬁwmw%:
(1) g amy (2) o= T
() TH @y (4) e @

64.

Main objective of Trend Analysis is :
(1) To make Comparative study of the financial statements for a number of years
(2) To indicate the direction of movement

(3) To help in forecasts of varioyg items

(4) All of the above

G TR P ey ey &
<1>%éaﬁ%ﬁ?ﬁaﬁwuﬁmmamm
(%Wﬁfé&naﬁ‘s‘ﬁmm%m
(3)%@:@%Wﬁmm

(4) SR T

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(]))
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65. Two basic measureg of liquidity are :

(1) Inventory turnover and Current ratio

(2) Current ratio and Quick ratio
(3) Gross Profit ratio and Operating ratio
(4) Current ratio and Average Collection period
A () & @ gfvd oum ¥
(1) & wfoliae ol o s
() T s A7 @ s
(3) WP T U AR gRerE S
(4) T ST ohe o e |
66. A company's liquid assets are 2 10,00,000 and its current liabilities are ¥ 8,00,000.
Subsequently, it purchased goods for ¥ 1,00,000 on credit. Quick ratio will be :

U DA BT HIR T 10,00,000 B MR g@eH =g IEAT X 8,00,000 ¥ |
TS €, T TR W ¥ 1,00,000 F AT @RI | @RGSR S0

(1) 1.11:1 (2) 122:1

(3) 1.38:1 (4) 1.25:1
67. Proprietary Ratio is :

(1) Long term Debts/Shareholder's Funds

(2) Total Assets/Shareholder's Funds

(3) Shareholder's Funds/Total Assets

(4) Shareholder's Funds/Fixed Assets

e U 8

(1) &<t smafe & RUI/ATIERS H [y

(2) et Hafw/ETERe @t HE

(3) SR H FR/gT Hu

(4) rReRes @1 Ffty/sree |

PG‘EE-ZOZZ/(M. Com. Hons)(Five Yr.)-(SET-X)/(D) P.T.O.
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.. . from operations ig
68. A Firm's credit revenue from operations is ¥ 3,60,000 cash revenue o ati(?will be
. , r :
X70.000. Cost of revenye from operations is T 3,61,200. Its gross prof1

. : Fpz T T 70
NI R 2 R Y S— 3,60,000 & =TT A > ?, =
%uﬁamémaﬁam;;,m,zoo & | ZHeT Fehel oM A B

(1) 11% (2) 15%
(3) 18% 4) 16%

69. While calculating operating profit which will be added to net profit :

(1) Preliminary Expenses Written off

(2) Depreciation

(3) Loss on Sale of Asset

(4) All of the above

TR 9 B T R e g e A e s ?
(1) IR =9 72 @y & STAT

(2) e

() "R A ey g% THE=

(4) SUH Gy

70. Where will you show purchase of Goodwill in a Cash Flow Statement ?

(1) Cash Flow from Operating Activities

(2) Cash Flow from Investing Activities

(3) Cash Flow from Financing Activities

(4) Cash Equivalent
%srﬁ@zﬁzﬁm@ﬁmﬁﬂ%ﬁﬁ@ﬁﬁ?
(1) wReres wfofaftmdt & 968t e

(2) Frar afefaferdt & st e

(3) favi MfRfedt ¥ Tt vare

(4) THT GHRE

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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1. The min;j .

’ (1) 2 an‘dmll:)l;l :;:;::‘_Xim“m number of partners in a partnership firm are : "
(3) 10and 100 1-e§pc::dy (2) 2 and 20 respectively ‘
TH HEE w3 H‘;:_ﬁ (4) 10 and 50 respectively
(1) 9 2 & B e ST e HeA @ -

100 (2) shHer: 2 3 20

() 10 90 100 (4) s 10 3T 50

72.

The only feas;
Y leasible purpose of financial management is :

1 s
(1) Wealth Maximisation (2) Sales maximisation

3) P SR
©) Profit fhaximisation (4) Assets maximisation

S W e TRt w2ed P

(1) &9 sriysmafiepzor ) feh SRRt
(3) AT SfRrepHiRTor (4) gufy STferehaHThTeT
73. Which of the following laws governs partnership form of business organization ?
(1) Indian Partnership Act, 1930 (2) Indian Partnership Act, 1932
(3) Indian Partnership Act, 1940 (4) Indian Partnership Act, 1952
::T;T%g@’j T q PE-E BeA et Gied & aeE wed @ FEEa

(1) AR gEErd effEe, 1930 (2) TR |Eerd sfafem, 1932
(3) ARAE G aAftfEE, 1940 (4) WRAE qEerg rfafas, 1952

74. How many companies are included in the SENSEX of India ?
aRa & daed # e Fatl i € 7
(1) 30 (2) 37 (3) 40 (4) 60

75. Registration of co-operative society S ceveeeeenn .

(1) Optional (2) Advisable (3) Compulsory  (4) Preferable

TEmre Giufr @7 ool <o
(1) JRT () = d 0) SIECie] (4) SAfREE
‘ P.T.O.

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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.. . : 1 9
76. Who has the power to take decisions in a cooperative society

77.

78.

79.

(1) Members of cooperative society

(3) Government

(2) Elected managing committee

(4) Customers

EHT Wiy § faoly % & afte fees T B 7

(1) Heard afafy & gaw
() "HR

Tele-marketing is the part of :

(1) Social marketing
(3) Viral marketing
- e
(1) "mIiS1ep faqur a5
(3) RS AHET By

(2) et gea afaf
(4) 7TEH

(2) Direct marketing
(4) Relationship marketing

(2) el fauuE
(4) RN ATRIET H

What is the maximum number of members in a private company ?
(1) Unlimited (2) 100 (3) 200 (4) 500
U (ol &t § weedt & oftesan de e o D 2
(1) rdifaa (2) 100 (3) 200 (4) 500

When can a public company commence its business ?

(1) After obtaining the certificate of commencement

(2) After obtaining the licence

(3) After obtaining the certificate of incorporation

(4) All of the above

PIS QIESTh HI U HTHT B & FT THdl B ?
(1) 9 T JATIT-GF A< HA & S5

(2) ArzEE I HA H =

(3) T 1 T o B B S

(4) ST gt

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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A private com
80 pany can ¢q
m : .
mence its business after obtaining which of the following ?

(1) Licence
(2) Certificate of Incorporation
(3) Certificate of Commencement

(4) All of the aboye

fmﬁ??mmﬁammqm%mmmﬂ%ﬂ
(1) s

2) e @ sy

(3) 9T & FHO-ux

(4) Suh |eht

81. Pick the odd one out :

(1) Owner's equity (2) Drawings

(3) Net worth (4) Net assets

T & g
(1) @it &1 gferedt (2) e
3) e 9 (4) fae |

82. Accrual concept is basedon ............ :

(1) Going concern concept (2) Cost principle
(3) Matching principle (4) Dual aspect principle

TSI ooveeeeeo g3 SR © |
(1) MET FHa HH< (2) @ i
(3) faeme fEssia (4) qew Tey fE=Td
P.T.O.

(,-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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83. Internationa] Financial Reporting Standards (IFRS) are issued by :
(1) IFRS Committee
(2) Internationa] Accounting Standards Board
(3) Internationg] Accounting Committee
(4) None of the above
w@aﬁ?ﬂwmﬁnwam&w@mmmm%?
(1) STuweRTy Had
(2) SRSt Srar wres e
(3) AT orar iy

() STE T Y B
84. Which source document is issued by a trader when he receives cash from the
customer ?
(1) Receipt (2) Cashmemo  (3) Cheque (4) Pay-in-slip
mé%wwﬁwwﬁmaﬁmwa‘ﬁmﬁwmw
g7
(1) T ) B A9 (3) 3 (4) I-z9-Rery

85. Which of the following is/are objectives of GST ?

(1) To maximize tax rate slabs
(2) To restrict the movement of goods across the country

(3) To eliminate classification dispute between goods and services

(4) All of the above

frfafga & @ SF-ard Sioad &1 e o3 7

(1) 2o/ 3T &9 & Abad 3 & Rig

(2) 9T {X H AT Pl STATSTE B RIS ET By

(3) aegaAt i GarsAl & e aefieheeT faare & @

(4) IYUH 9T

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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Ledger is called as book of final ent
ntry .

f (1) True
(2) lalse

(3) Can't say
(4) Partially true

AT 3T uRife
B YT HEl oA R |

(1) 99

| (2) AT

(3) T FTE Ry (4) aifars @ & G
g7. What does credit balance of bank account in cash book signify 7

(1) Overdraft (2) Cash deposited in bank

(3) Cash withdrawn from bank (4) None of the above

Jpe & F ¥ @R F o A @ g & 7

(1) SfragTH (2) &5 & T TR

(4)scraﬁﬁﬁﬁé-«r€i

(3) ¥ § e fereprel
Accountants of India (ICAI) defines

88. .......... issued by the Institute of Chartered

depreciation.
(1) Accounting Standard-5 (2) Accounting Standard-4
(4) Accounting Standard-7

...........

(1) &r@r AH-5 (2) @@ ArE-4
(3) @@n "H-6 (4) @@ AD-7
89. A debit note is prepared by «...ooooeeeee :
(2) Seller

(1) Purchaser
(4) None of the above

(3) Cashier
rr S A S

ug e AT e
(1) @l (2) fersha
O ELEN (4)mﬁaﬁs‘a€r

P.T.O.

G-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)



26

90. A\ bill of exchange 1s drawn by

(1) Sharcholder (2) Debtor

(3) Creditor (4) Bank
EIRER IS S T T B At 2
(1) T (2) AT
(3) AT (4) =

. . . . for those businesg
91. Which type of organizational structures is the most suitable
enterprises where a large variety of products are manufactured 7

(1) Functional (2) Divisional

(3) Both (1) and (2) (4) Nota

ST AGEIEE IEAl & fIw R s & @eeneAs Sea Aad ST R
SET SR 1 Uk S RAfedr wr Ry G o © 7

(1) EafES (2) THFENA
(3) (1) S (2) & (4) e
Q2. ... is the obligation of a subordinate to properly perform the assigned duty.
(1) Authority (2) Responsibility
(3) Accountability (4) Nota
AT T e S B B QO i ) N areaar
(1) sreRzeT (2) ST
(3) STaTerREr (4) Arer
93. ........... implies being answerable for the final outcome.
(1) Authority (2) Responsibility
(3) Accountability (4) Nota
........... &I A sifad g & fie Seete 8my R
(1) HiferRzor (2) I

(3) STarEeer (4) =rer

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)



27

)

94. An organization is .. h isi |
management lovels. when decision-making authority is rctained by higher L
(1) Centrali

sed (2) Decentralised |
(3) Both (1) and (2) (4) Nota
T 9 ge wEEA W e
[SRICE AU 2 S RBrofy a9 @ erfeeer 3= AGET &R < o

ST ®
(1) Sdrpa (2) Fddg |
(3) (1) 3 (2) At (4) et

95. "It refers to the right of an individual to command his subordinate and to take action

within the scope of his position.”
Which element of delegation is being referred to the above statement ?

(1) Accountability (2) Responsibility

(3) Authority
“ugﬁ%ﬁaﬂf%ﬁ%emﬁeqsﬂwaﬁaﬁm
Wﬁ%ﬁ%aﬁzﬁr{ﬁﬁaﬁﬁm%l”
qﬁfﬁ@ﬁ%ﬁ%ﬁmaﬁraﬁmﬂ?ﬁzﬁmﬁﬁaﬁﬁ
(1) STarsee! (2) R

(3) SfeER ol (4) AT

(4) Nota
ﬁ@tmm%mﬁ

poT ST @ B 7

96. Which of the following is frue in case of e-banking ?

(1) Lowers the transaction cost

(2) Adds value to the banking relationship

(3) Empowers customers |

(4) All of the above
é—%%ﬂ%qmﬁﬁﬁmﬁrﬁgﬁﬁﬁﬁq-w I T 7
(1) 33 o @ B B B 8

(2) ST wedt § g Stedr @

(3) TTEhT I FATH T S

(4) IIUH g
P.T.O
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97. Dir cclingis initiated a level of management.
(I) Lower (2) Middle
(3) Top (4) All of these
IS[S)
SNe o W 9 ey & fepar e gl
1
(3) ey (2) 74
(3) g 4) a3 gf
98. Whj ing i
ich of the following jg not the element of directing ?
(1) Delegation (2) Leadership
(3) Motivation (4) Communication
Frifoae & & o MR & v 7@ Y 7
(1) Ffafrgee ) JgE
(3) 3em 4) =™
99. Which of the following principles are applicable to Fire Insurance ?
(1) Proximate cause (2) Mitigation
(3) Contribution : (4) All of the above
ﬁwﬁr@aﬁﬁaﬁﬁ-éﬁmmﬁ@mwméﬁ%?
(1) FHEr oy (2) s
(3) A (4) STE |h
100. ............. is an inner state that energises, activates or move and directs behaviour

towards goals.
(2) Motives

(3) Motivators (4) All of the above
........... @aﬁaﬁmﬁaﬁ%@ra&@f%iﬁwﬁm@aaﬁmm
TR FH 8 ofiR FRfar ah 8 A

(1) gzom (2) A8
3) RF (4) STH g

PG-EE-2022/(M. Com. Hons)(Five Yr.)-(SET-X)/(D)
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